DORNGR

3100 Series
Flat Belt Conveyors

Parts, Assembly
& Maintenance
Manual




Table of Contents

Safe Practices ........................ .l
Foreword ........... ..
Installation Instructions
Introduction . ...... ...
General Instructions for All Conveyors ................

Special Instructions for End Driven Conveyors
Over 13ft(3965mm) . ...

Special Instructions for Center Driven Conveyors
Over13ft(3965mm) ...

All Sections Except2nd Tail .....................
2nd Tail Installation .. ...t
End Drive Packages . ........ ... ... it

Bottom Mount Installation & Initial
Timing Belt Tension Adjustment . . ...............

Top Mount Installation & Initial
Timing Belt Tension Adjustment .. ...............

Side Mount Installation . ........................
Start-up & Preliminary Adjustments
Conveyor Belt Tension Adjustment ..................
End-driven Conveyors .............c..ciiiinnn.
Center-driven CONVEYOIS . ......ooviieunnnnnnn.
Preliminary Belt Tracking Check ....................
Conveyor Belt Tracking Adjustment Procedure . .......
Center Drive Conveyor Belt Tracking Cam . ...........
Lubrication & Maintenance
Lubrication . ....... ..
3" (76 mm) Pulley Bearings (Non-relubeable) ... ..
Re-lubricating Twin 1" (25 mm) Pulley Bearings . ..
ConveyorBelts ...
Drive COmMpoNeNnts ..........c.coiiiiiiininnennn.
Conveyor Hot Spots . ...
Cleaning Conveyor and Conveyor Belt . ..............

Interface Tail Plate Twin 1 (25 mm) Pulley
Removal & Bearing Repair ........................

Top or Bottom End Drive Timing Belt Replacement &
Operating Tension Adjustment . ....................

Center Drive Timing Belt Replacement &
Operating Tension Adjustment . ....................

Conveyor Belt Replacement & Adjustments

Conveyor Belt Replacement ........................
General Information .............. ... .. ...
Low-sided Conveyor Guiding . ..................
High-sided Conveyor Side Wipers ...............
End-driven Conveyors ...
Releasing Conveyor Belt Tension ............
BeltRemoval ............ .. ... .ot

Belt Replacement . .........................
Center-driven CONVEYOIS . . ....oovvinneennnn..

Preferred Method of Conveyor Belt
Removal & Replacement ..................

2 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Alternate Method for Re-threading Conveyor Belt

Through Center Drive Module ............... 23
All Center Drive Conveyors ............... 23
Belt Removal on Horizontal Center Drive
ConveyorsOnly ..., 24
Belt Removal on Vertical Center Drive
ConveyorsOnly ..., 24
Belt Fusing and System Restoration ....... 25
Troubleshooting Guide
Bearings . ... 26
Gearmotor . ...t e 26
GearReducers ........ ... 26
Vertical Center Drive TimingBelt .................... 26
ConveyorBelt ....... .. ... . 28
Tool Kit ..o 29
Replacement Parts
Conveyor Belt Part Number ........................ 30
Intermediate Sections . .......... ... ... 31

Tail Assemblies

Fixed End for 3" (7Omm) Pulley . ................ 34
Fixed End for 1" (25 mm) Pulleys . ............... 36
Drive End . ... 38
Tension End for 3" (7O mm) Pulley .............. 40
Tension End for 1" (25 mm) Pulleys . ............ 42
End Drive Gearmotor Mounting Packages
Bottom Mounting . ... 44
SideMounting ........... i 45
TopMounting .. ... 46
Center Drive Modules
Vertical
Visual Index . ... a7
Side Plates, Covers and Guards ............. 48
Belt Tensioning and Idler Pulley . ............. 50
Drive Pulleys, Timing Belt Pulleys
& Mounting Plates ........................ 52
Horizontal Heavy Load
Visual Index . ... 55
Side Plates, Coversand Guards ............. 56
Belt Tensioning and Idler Pulley . ............. 58
Drive Pulleys, Poly-VH Belt Pulleys
& Mounting Plates ........................ 60
Horizontal Standard Load
Visual Index . ... 63
Side Plates, Covers and Guards ............. 64
Belt Tensioning and Idler Pulley .............. 66
Drive Pulleys, Poly-VH Belt Pulleys
& Mounting Plates ........................ 68
Gearmotors, Motors & Controllers and Gearheads . . ... 70
SAE Hardware Conversion Table ................... 73
Numerical Index ............................. ... 74

Dorner Mfg. Corp.



Safe Practices

'\ _WARNING I

*The safety alert symbol, black triangle with white exclamation, is used to alert you to potential personal injury
hazards.

* Standing on a conveyor or transporting people is prohibited.

*When conveyors are used in conjunction with other equipment or as part of a multiple conveyor system, check
for potential pinch points and other mechanical hazards before system start-up. Because Dorner Mfg. Corp.
cannot control the physical installation and applications of multiple conveyor systems, taking protective mea-
sures is the responsibility of the user.

*Operating Dorner conveyors in an explosive environment is prohibited.

*NEVER operate equipment without guards or other protective devices properly secured in place. In addition,
to prevent injury, make sure all electrical and pneumatic power sources have been disconnected and locked-
out before you perform any maintenance, make any adjustments or replace any components.

*Some gearmotors may operate at an elevated temperature which may cause people to be startled if they acci-
dentally touch the motor housing.

*Before proceeding to loosen hardware that locks-in the selected stand height, be sure that all related Conveyor
sections are securely supported to prevent them from moving suddenly and dropping-down which may pinch
or strike you, causing serious personal injury.

A DANGER A

Use extreme caution when using the Tail
Installation Tools. Refer to the special
Danger warning on page 6.

Foreword

By following the maintenance and adjustment instructionsin
this manual, you will prolong the life of your conveyor and
maintain its maximum efficiency.

When ordering replacement parts, aways give the model and
serial number. These numbers are stamped on a nameplate
label (Figure 1), located on conveyor side rail. Record the
numbers below for ready reference.

Model Number

(Fill In)

Serial Number

(Fill In)

For pictorial clarity, some illustrations in this manua may
show guards or other protective devices open or removed.
Under no circumstances should the conveyor be operated
without these devices securely in place.

NOTE:

All technical data in this publication is based on the prod-
uct information available at time of printing. All assembly
part numbers are listed for metric mounting hardware.
Instructions for installation, adjustment and mainte-
nance are the same for metric and SAE style conveyors.
SAE parts are identified by using the metric part num-
bers listed and dropping the “M” suffix. Refer to the table
on page 73 for SAE equivalent hardware.

™1 B
DORNER ™™

HARTLAND, WI USA

sm |

5131529 5156261 5203447

5156260 5174435 5265714

AND CORRESPONDING PATENTS AND PATENT APPLICATIONS IN OTHER COUNTRIES
MODEL #

Figure 1: Typical Model & Order Number Nameplate Label Pz01

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 3



Installation Instructions

Introduction

Dorner Mfg. Corp. makes every effort to properly package and
ship its products. Upon receipt, inspect dl packages for any
shipping damage. Natify the carrier immediately, when problems
are firg discovered. Compare the shipment with the packing dip
and oontact the factory about any discrepancies (see back page for
phone number). Check the individud assembly ingtructions
(provided) for drive and accessory component completeness.

NOTE:

Some packages may have been separated by carrier
during shipment.

3100 seriesflat belt conveyors are engineered, designed and
manufactured to meet a variety of material handling applica-
tions.

All conveyors feature an extruded aluminum alloy frame,
T-dots for convenient mounting of pre-engineered accesso-
ries and bearings and gearmotor drive packages designed for
dependable and low maintenance operation.

To compliment the features and functions of 3100 series flat-belt
conveyors, any conveyor can be combined with standard
auminum support sands or sted support stlands. Both types of
stands are available with fixed or swivel casters.

Use Dorner stands and compatible mounting hardware or
other suitable mounting arrangements, provided by the user,
to squarely, straightly and securely support the conveyor.
Refer to the Metric Support Stands and Conveyor Mountings
Parts, Assembly & Maintenance Manual for additional
details. When properly set-up, the conveyor must be free of
any twist, regardless of overall conveyor length or width.

General Instructions
for All Conveyors

1. Using appropriate lifting means, carefully remove the
conveyor assembly or section from the wooden ship-
ping box and place it in its correct operating position
and direction.

2. UseDorner stands and compatible mounting hardware
or mounting provided by the user to securely mount the
conveyor. Refer to Metric Support Stands and Convey-
or Mountings Parts, Assembly & Maintenance Manual
for appropriate mounting details.

3. The conveyor must be mounted straight, flat and level,
within the confines of the conveyor. Always use both
astraight edge and alevel for initial set up (Figure 2).

IMPORTANT:

Do not bend or twist the conveyor frame when mounting
the conveyor.

4 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

0377

Figure 2: Conveyor Alignment Reference
Detail

Make sure that intermediate sections and tail assem-
blies are butted tightly together and securely fastened.

For dl end-driven conveyors, refer to the “End Drive
Packages’ topic, garting on page 8, to atach gearmotor.
For maximum load carrying, locate the gearmotor so that
what is being conveyed moves toward the drive.

Some gearmotors will require some customer-provided
dectrical wiring. Follow dl applicable locad dectricd
codes and the wiring diagrams, supplied with the gearmo-
tors. The wiring diagram, for a three-phase gearmotor, is
located indde the termina box which is attached to the
gearmotor. The wiring diagram for a vaiable speed
gearmotors is located inside the control box.

All low sde conveyors without optional guiding, have
fectory ingaled belt tracking guides, 200524 (A of FHgure
3) inddled on both ends of conveyor. The guideisa 35"
(89 mm) long piece of formed plagtic which sngps onto the
portion of the conveyor sdewdl (B) above the T-dot
channd.

a.  To remove the guide from the conveyor side-
wall, apply a dlight outward and downward
finger-pressure on one of the top corners of the
guide and gradually peel it off the portion of the
conveyor sidewadl (B).

b. Toinstall the guide onto the conveyor sidewall,
first place the lower lip (C), of the guide, against
the upper edge of the conveyor sidewall T-slot
channel. Then, apply inward and upward pres-
sure to completely snap it into place.

Dorner Mfg. Corp.



Installation Instructions

NOTE:

Be sure to save the belt tracking guides (A of Figure 3)
for start-up after belt cleaning or replacement.

Figure 3: Conveyor Low Side
Belt Tracking Guide Installation Detail

Special Instructions for End Driven
Conveyors Over 13 ft (3965 mm)

NOTE:

The following special field setup procedures are pro-
vided for and apply only to an End Drive Conveyor which
is longer than 13 ft (3965 mm).

All end-driven conveyors are manufactured with endless
conveyor belts. Conveyors over 13 ft (3965 mm) long are
configured and built at the factory, partialy disassembled,

Dorner Mfg. Corp.

crated and shipped in sections. The customer must re-as-
semble the sections and tension the conveyor belt. The
following procedure is recommended.

1. Position stands, with the return roller/mounting assem-
blies attached, in proper locations to support the drive
end, frame split and tail end. For additiona details,
refer your Metric Support Stands and Conveyor
Mountings Parts, Assembly & Maintenance Manual.

2. Pace bdt around the assembled drivelintermediate section.
Push the lower return run of the belt up into the conveyor
frame, when lowering the section onto the return roller/
mounting assembly, to prevent pinching the belt.

NOTE:

On the underside of the conveyor, the belt rides on the
return rollers. The rollers MUST be perpendicular to the
conveyor belt and rotate freely, at all times.

3. Clamp drive/intermediate section to the stands with
return roller/mounting assemblies.

4. Unroll the belt toward the tail end of the conveyor.

5. Instal the tension end tail section into the intermediate
section end, if not already assembled.

6. Pace both sections indde the conveyor bet loop. To
prevent pinching the conveyor belt, make sure the return
run of the bt is tucked-up into the conveyor frame while
the conveyor is being set down and onto the retun
roller/mounting assembly. Fasten sections together using
connecting mounting assemblies.

NOTE:
Match-marked numbers must be re-installed in proper order.

7. Clampdl intermediate/tail sectionsto the support stands.

8. Set the conveyor belt tension. Refer to “Conveyor Belt
Tension Adjustment” topic beginning on page 12.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 5



Installation Instructions

Special Instructions for Center
Driven
Conveyors Over 13 ft (3965 mm)

NOTE:

The following special field setup procedures are pro-
vided for and apply only to a Center Drive Conveyor
which is longer than 13 ft (3965 mm).

All Sections (Except 2nd Tail)

All Center Drive conveyors are manufactured with endless bdlts.
Conveyors over 13 ft (3965 mm) long are configured and built
at the factory, partially disassembled, crated and shipped in
sections. The customer must reassemble the sections and tension
the conveyor bdt. The following procedure is recommended.

1. Position stands, with the return roller/mounting assem-
blies attached, in proper locations.

2. Placethe intermediate section with the drive unit into
position on the stand mounting brackets with return
rollers.

3. Unroll the belt toward the shortest end of the conveyor,
using enough belt for that distance.

4. Placedl of the sections indde the conveyor bet loap. To
prevent pinching the conveyor belt, make sure the return
run of the bt is tucked-up into the conveyor frame while
the conveyor is being s&t down and onto the return
roller/mounting assembly. Fasten sections together using
connecting mounting assemblies.

5. Clamp to the stands.

NOTE:

On the underside of the conveyor, the belt rides on the
return rollers. The rollers MUST be perpendicular to the
conveyor belt and rotate freely, at all times.

6. Continue this process, one section at atime, until the

6 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

second of the two tail sectionsisto beinstaled. Install
the 2nd tail section per the following instructions.

2nd Tail Installation

DANGER

A A

The Tail Installation Tools are used during
initial conveyor setup or when conveyor
belt is being replaced. BE SURE, while
you are rotating the tail section into
position, to keep your fingers out from
inside the belt loop and from the inside
end of the tail section (shaded area of
drawing).

Belt Loop

Conveyor

Two tail installation tools, part numbers 300362M (D of
Figure 4), must be used on some center drive conveyors that
are 13 ft (3965 mm) and longer, to get the 2nd tail section
assembled inside the conveyor belt loop. These tools are
provided with dl center drive conveyors over 13 ft (3965 mm)
long.

1. Begin by removing the screws (E) which are securing
the four T-bars (F) to the tail section (G).

Dorner Mfg. Corp.



Installation Instructions

Figure 4: Tail Installation Tool Detail

2. Slide T-bars into the proper T-dots at the end of
conveyor frame.

3. Attach the tail installation tools tightly to the upper
T-bars on both sides of the conveyor frame. The tools
are to extend approximately 0.375" (10 mm) beyond
the end of the conveyor frame.

NOTE:

The hex nuts, on the tail installation tool, are used only
to secure the washer during storage.

4. Place the tail section (G of Figure 5) on top of the
conveyor and inside the belt loop as shown.

10.

11.

Rotate the tail installation tools around the shoulder screws
(1), until the pins on the tools engage the holes in the tall
section (used for mounting the upper T-bar).

Very carefully rotate the tail section down into position.
Install thetail cover plate screws (J of Figure 6) through
thetail cover platesinto the lower T-bars. Screws are to
be snug, but not tight at thistime; screwswill be tightly
secured after proper conveyor belt tracking is adjusted.

Remove the tail installation tools. Slide the upper
T-bars (K) under the tail cover plates. Install the upper
cover plate screws.

After conveyor re-assembly is complete, loosen the
screws at intermediate and tail/intermediate joints.

Align and bring al joints together and tighten all
connecting hardware. For additional details, refer your
Metric Support Stands and Conveyor Mountings Parts,
Assembly & Maintenance Manual.

The pneumatic belt take-up system will tighten the belt
when air pressureis applied. The pressure gauge is set
and locked at the factory for start-up tensioning
pressure. Add pressure, as required, to convey the load
without stalling. Do not use excessive pressure.

Proceed to the “Start-up & Preliminary Adjustments
Procedure” section, beginning on page 12.

0418

Figure 5: Tail Section Positioning Detail

Figure 6

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 7



Installation Instructions

End Drive Packages

NOTE:

For maximum load carrying, locate the gearmotor so
that what is being conveyed moves toward the drive.

Bottom Mount Installation & Initial Timing
Belt Tension Adjustment

The bottom mount package can be set up in either one of two
positions (A or D of Figure 7).

Position A

Position D

0342
0343

Figure 7: Bottom Drive Mounting Detail

The conveyor belt can be driven in either one of two directions
(1 or 2 of Figure 7). Arrows show bdlt travel direction.

1

8

Refer to Figure 9 and attach the gearmotor (E) and the
motor mounting plate (H) to the conveyor (F) using
one M6 x 30 mm socket head cap screw (1) inthetop
mounting hole of the mounting plate, two M6 x 16
mm socket head cap screws (J) in middle holes and
three M6-1.0 x 20 mm socket head cap screws(K) in
bottom holes.

Assmble the drive and driven pulleys (M and/or L) and
timing belt (N). Place a square key (O of Figure 9) into
the keyway on the gearmotor and conveyor shafts. Ingtall
the pulleys so that the timing belt is centered on the belt
tensioning roller assembly (B of Figures 8 & 9) and the
pulleys arein line with each ather. Tighten the pulley set
screws (Q of Figure 9) or Taper Lock® bushing screws

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

(P), which fagten the pulleys to the shafts. Determine
which direction the conveyor bdt is traveling and position
the tendoning roller assembly on dack sde of the timing
bet (Figure 8).

Adjust timing belt tension by loosening the M12 x 25
mm socket head cap screw (R of Figure 9) and diding
the belt tensioning roller assembly against the belt.
Tension should be measured a mid-point (C of Figure
8) on the tension side of the timing belt. As a starting
point for the tensioning process, there should be a 1/8"
(3 mm) deflection with 6 1b (3kg or 26 N) of force.

e ° ° 0295

0294

Figure 8: Bottom Drive Timing Belt
Adjustment Detail

Every timing belt application exhibits its own individual
operating characteristics. The optimum timing belt ten-
sion should be determined experimentally.

If necessary, continue to side the tensioning roller
assembly against the timing belt until the belt is
tensioned so as to prevent jumping of teeth under the
most severe conditions which the drive will encounter.
Tighten the M12 x 25 mm socket head cap screw after
tension requirements are achieved.

IMPORTANT:

Do not over tension the timing belt. Over tensioning may
cause reduced belt life or bearing and drive damage.

5. Attach the bottom drive cover (S of Figure 9) using four

M4 x 10 mm button head cap screws (T).

Dorner Mfg. Corp.



Installation Instructions

Figure 9: Bottom Drive Component Assembly Detail

Top Mount Installation & Initial Timing
Belt Tension Adjustment

The top mount package can be setup in either one of two

positions (A or D of Figure 10).

Position D

Figure 10: Top Drive Mounting Detail

The conveyor belt can be driven in either one of two directions

(1 or 2 of Figure 10). Arrows show belt travel direction.

screws (J) in middle holes and three M6 x 20 mm socket
head cap screws (K) in bottom holes.

NOTE:

The upper set (of 4) gearmotor mounting plate holes (G
of Figure 12) is only used when both gearmotor and con-
veyor shafts will have 16 tooth pulleys mounted to them.
All other pulley combinations, use the lower set of
mounting plate holes.

2. Assemble the drive and driven pulleys (M and/or L)
and timing belt (N). Place a square key (O) into the
keyway on the gearmotor and conveyor shafts. Ingtall the
pulleys so that the timing belt is centered on the belt
tensioning roller assembly (B of Fgures 11 & 12) and the
pulleys arein line with each other. Tighten the pulley set
screws (P of Figure 12) or Taper Lock® bushing screws
(Q), which fasten the pulleys to the shafts. Determine
which direction the conveyor belt is traveling and

1

Dorner Mfg. Corp.

Refer to Figure 12 and attach the gearmotor (E) and the
mounting plate to the conveyor (F) using one M6 x 30
mm socket head cap screw (1) in the top mounting hole
of the mounting plate, two M6 x 16 socket head cap

position the tensioning roller assembly on the dack side
of the timing belt (Figure 11).

Adjust timing belt tension by loosening the M12 x 25
mm socket head cap screw (R of Figure 12) and sliding

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 9



Installation Instructions

the belt tensioning roller assembly (B of Figures 11 &
12) against the belt. Tension should be measured at
mid-point (C of FHgure 11) of on the tension side of the
timing belt. As a starting point for the tensioning
process, there should be a 1/8" (3 mm) deflection with
6 1b (3kg or 26 N) of force.

Figure 11: Top Drive Timing Belt
Adjustment Detail

4. Every timing bet gpplication exhibits its own individual
operating characteristics. The optimum timing belt ten-
sion should be determined experimentally.

If necessary, continue to dide the tensioning roller
assembly against the timing belt until the belt is
tensioned so as to prevent jumping of teeth under the
most severe conditions which the drive will encounter.
Tighten the M12 x 25 mm socket head cap screw after
tension requirements are achieved.

IMPORTANT:

Do not over tension the timing belt. Over tensioning may
cause reduced belt life or bearing and drive damage.

5. Attach the top drive cover (S of Figure 12) using four
M4 x 10 mm button head cap screws (T).

W

7
Ly

Figure 12: Top Drive Component Assembly Detail

10

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.



Installation Instructions

Side Mount Installation

The side mount package can be set up in ether one of two
positions (A or D of Figure 13).

Position A

Position D

0348a 0349a

Figure 13: Side Drive Mounting Detail

In addition, the conveyor belt can be driven in ether one of two
directions (1 or 2 of Figure 13). Arrows show bdt trave
direction.

L oose components shipped with the mounting kit include the
square key (K of Figure 14), M6 x 20 mm, M6 x 25 mm and
M6 x 35 mm socket head cap screws (L, M & N), side drive
guard (O) and M5 x 10 mm button head cap screws (P).

1.  Secure the gearmotor (J) and the mounting plate
assembly to the conveyor (I) using one M6 x 35 mm
socket head cap screw (N) in top mounting hole, two

M6 x 20 mm socket head cap screws (L) in middle holes
and three M6 x 25 mm socket head cap screws (M) in
the bottom holes.

2. The flex coupling (R) is shipped attached to the
gearmotor shaft (F). Make sure the set screw (H) on the
end farthest from the gearmotor is loosened far enough
to allow the coupling to dlide onto the outboard shaft
(E) on the conveyor.

3. Mount the assembly to the conveyor by placing the
square key (K) into the keyway on the outboard shaft
and dliding the flex coupling onto the shaft asfar asthe
key will allow.

4. While holding the gearmotor and flex coupling assem-
bly in alignment, secure the gearmotor to the mounting
plate using the four M6 x 20 mm head cap screws.

NOTE:

Flex coupling is provided to compensate for maximum
shaft misalignments (G) of up to 1/16" (1.5 mm).

5. Tighten the st screws on the flex coupling and re-as-
semble the side drive guard (O) to the mounting plate
using the M5 x 10 mm button head cap screws (P).

Figure 14: Side Drive Component Assembly Detail

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 11



Start-up & Preliminary Adjustments

Conveyor Belt Tension Adjustment

IMPORTANT:

The conveyor belt is the single most important compo-
nent of a 3100 Series conveyor. Therefore, Dorner rec-
ommends that both correct conveyor belt tension and
proper belt tracking be correctly established before the
conveyor is put into operation.

End-driven Conveyors

The following procedure is used to tension the conveyor belt
for end driven conveyors. An end-driven conveyor uses arack
and pinion assembly (G of Figure 15) to take up conveyor belt
slack and achieve proper conveyor belt operating tension. To
adjust the belt tension:

Figure 15

12 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

1. Locatethetension end (B) of the conveyor, identified
with alabel (C).

2. Make surethat the belt tracking cam assemblies (D), on
each side of the conveyor, are secure. Refer to callout
D of Figure 18 on page 14, for more details.

3. Then, loosen tail cover plate clamping screws (E) on
both sides of the tension end.

4. Insert a5 mm hex key wrench (F) into either end of the
pinion (A).

5. Rotate the pinion to extend the tensioning end and apply
a sufficient tension to eliminate drive pulley dippage.

NOTE:

Over-tensioning conveyor belt adds unnecessary load-
ing to the pulley bearings.

6. While holding the pinion in the tensioned position, tighten
cover plae screws on both sdes of the conveyor. Torque
the mounting screws to gpproximately 18 in-b (2 Nm).

Dorner Mfg. Corp.



Start-up & Preliminary Adjustments

Center-driven Conveyors

The bet tension for al center drive conveyor belts is
established and maintained by the regulator adjusted (H of
Figure 16 or Figure 17) air pressure to the take-up cylinder. Air
pressure should initialy be set to 55 PSIG (385 kPa) and
re-adjusted so that the belt under maximum load does not dip.
Conveyor belt tension should be adequate to prevent dippage
which could result in the drive pulley wearing/burning-through
the conveyor belt. Conversaly, belt tension should not be too
great which could stretch the belt and cause undue bearing
stress and early failure.

NOTE:

Dorner recommends that the system supply be at least
55 PSIG (385 kPa) of 10 micron filtered air pressure.

Figure 17: Horizontal Center Drive

Dorner Mfg. Corp.

Preliminary Belt Tracking Check

IMPORTANT:

Stop the conveyor immediately if the belt does not track
properly. Refer to the “Conveyor Belt Tracking Adjust-
ment procedure” topic beginning on the next page.

1. Make sure the conveyor belt tension is set properly.
Refer to “Conveyor Belt Tension Adjustment” topic
beginning on the preceding page.

2. Make surethe belt tracking guides are installed on the
discharge end of low side conveyors, as applicable (see
page 5).

3. Energize the power to the conveyor drive motor and, on
center-driven conveyors only, turn on the supply air to
the take-up cylinder. Then, proceed as follows:

a. On fixed speed conveyors, jog the conveyor on
and off in very short cycles, a maximum of 6
starts per minute. Observe the belt tracking on
both ends. Gradually increase the run cycle.

b. On variable speed conveyors, set the control at
its lowest speed. Run the conveyor and observe
the belt tracking at both ends.

4, Make additional tracking adjustments, as needed, per
the following topic.

Conveyor Belt Tracking
Adjustment Procedure

Make sure the belt is properly tensioned and that the conveyor
isstraight and level in all directions within the confines of the
conveyor.

This conveyor is equipped with an articular linkage which
alowsthe pulley to be positioned at adight angle to facilitate
belt tracking.

If you are working on alow side conveyor, re-install the belt
tracking guides following the details on page 5.

Check both ends of the conveyor for proper belt tracking. The
belt should track centered between the tail plates on both ends
of the conveyor. Conveyor belt tracking should always be
adjusted on the discharge end of conveyor first. Then, check
the tracking on the opposite (infeed) end of the conveyor and
readjust, if necessary.

To adjust belt tracking:

1. Loosen (but do not remove) the two cam clamping plate
screws (1) on both sides of the conveyor discharge.

2. Slide both belt tracking cam assemblies (D of Figure
18) asfar asthey can be moved toward the end of the
conveyor.

3.  Thebelt tracking cam (J) must be set to the low point
at the point of contact asillustrated. The dot (K), inthe
belt tracking cam, should be horizontal and pointing
towards the end of the conveyor.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 13



Start-up & Preliminary Adjustments

4. Tighten the two (2) belt tracking cam retaining plate
screws (1), on both sides of the conveyor.

5.  Only loosen the four tail cover plate screws (E of
Figure 18) on the side of the conveyor that the belt
istracking toward.

6. Usethe 5 mm key wrench (F of Figure 15) to slowly
rotate the belt tracking cam (J of Figure 18) in small
incrementsin either direction to cause the belt to track
away from the conveyor side, until the belt tracksin the
center of the conveyor. Always allow the conveyor belt
to make several revolutions between adjustments.

IMPORTANT:

Rotate belt tracking cam very slowly and in small incre-
ments, to prevent the belt from moving beyond the de-
sired centered position.

7. While holding the belt tracking cam (J of Figure 18) in
position, tighten the tail cover plate clamp screws (E)
and re-check the belt tracking.

8. Recheck bdlt tracking, on opposite end of the conveyor,
and adjust if needed.

Belt Travel <,—jj

©

O s
.

E

Figure 18
Center Drive Unit Conveyor Belt
Tracking Cam

Vertical and horizontal center drive module assemblies have
a cam adjustment mechanism (L of Figure 19) on each end of

14 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

the conveyor belt idler roller to control belt tracking through
the drive. Thisadjustment isfactory set and should not require
readjustment except maybe after a replacement conveyor belt
isinstalled. To make an adjustment, first loosen (but do not
remove) thefour (4) cam plate screws (N). Then, usinga5 mm
key wrench, slowly rotate the belt tracking cam (M) in small
incrementsin either direction to cause the belt to track away
from the side, until the belt tracks in the center of the drive.
Always alow conveyor belt to make several revolutions
between re-adjustments. After the proper tracking is obtained,
tightly secure the cam plate screws.

—)
{

¢
¥
(—Io ]} = [ ©
Q Gr
ey X

/ \ //
\
< N N /
AN \\\_,//
AN
N
AN
Q 7 N
| 1 Y[ [
@ o) \ D@Q [o) o of
AN /
% —
= |

Figure 19: Belt Tracking Cam Locations for
Center Drive Assemblies

Dorner Mfg. Corp.



Lubrication & Maintenance

Dorner 3100 series flat belt conveyors are designed and
manufactured for long life and low maintenance. Mainte-
nance consists of identifying a problem and taking corrective
action, asidentified below.

AT A

To prevent injury, make sure all electrical
and pneumatic power sources have been
disconnected and locked-out before you
perform any maintenance, make any
adjustments or replace any components.

Lubrication

3" (76 mm) Pulley Bearings
(Not Re-greasable)

NOTE:

All 3" (76 mm) Pulley Bearings are sealed and are not
re-greasable.

Twin 1" (25 mm) Pulley Bearings

Lubricate the twin 1" (25 mm) pulley bearings, on each side
of the conveyor, every 750 hours of operation or more
frequently, when conditions warrant. Use a conventional
hand-operated grease gun, with a maximum of one pump per
application, unless otherwise specified. To prevent damage to
the bearing, do not use a power grease gun which creates
undue pressure that may unseat the bearing. Use Dorner Red
Grease 14 oz. cartridge, part number 829-002, or 14 oz. can,
part number 829-003.

NOTE:
Do not over-lubricate the twin pulley bearings.

Maintenance

Conveyor Belt
Inspect the conveyor belt for:

Dorner Mfg. Corp.

e Stalling or dlipping; refer to “Conveyor Belt Tension”
beginning topic on page 12.

® Tracking problems; refer to “Conveyor Belt Tracking
Adjustment Procedure” beginning on page 13.

Worn edges

Surface cuts or wear

Stretching or breaking

Belt that walks to one side

Non-uniform movement of the conveyor belt
Lines or rough edges on belt

Accumulated dirt

Jammed parts

Foreign material inside conveyor
Interference with mounted accessories

Conveyor Hot Spots

Inspect the conveyor frame and drive unit surfaces for hot
spots which indicate the need for tracking the conveyor belt,
replacing worn-out bearings and/or lubricating 1" (25 mm)
bearings (where applicable).

Drive Components

Check drive timing or Poly-V" belt for wear. Replace worn
belt, if necessary. Check the drive pulleys for proper
alignment and re-align, if necessary.

Cleaning Conveyor and Conveyor Belt

During maintenance procedures involving conveyor belt or
worn part replacement, be sure to thoroughly clean all
conveyor surfaces, inside and out. Remove any compacted
material from the outer surfaces of al pulleys. Check all
bearings and rollers for smooth operation.

IMPORTANT:
Do not use belt cleaners that contain alcohol, acetone,
Methyl Ethyl Ketone (MEK) or other harsh chemicals.

Use Dorner Belt Cleaner, part number 625619, or equivalent.
Mild soap and water may also be used. Do not soak the belt.
Due to the texture of woven polyester and black anti-static
belts, use a small, semi-gtiff bristled brush (similar to a
vegetable brush), to improve cleaning.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 15



Lubrication & Maintenance

Twin 1" (25 mm)
Pulley Removal & Bearings Replacement

Pulley Removal

1

Remove conveyor belt for accessto the pulleys. Refer
to the appropriate topic in the “ Conveyor Belt Replace-
ment & Adjustment” section of this manual beginning
on page 20.

Removethetail cover plate screws (A of Figure 20) and
tail cover plates (B) on both sides of the conveyor.

16

Figure 20

Remove the retaining deeves (C) and pulley (D). If
retaining deeves are suck or wedged tight, proceed to the
next step.

To remove a wedged sleeve, refer to Figure 21 and
remove the grease fitting. Then, working through the
grease fitting hole (F of Figure 21) in the sleeve (C),
form a puller arrangement as shown. Use the bearing
anvil/sleeve removal tool 25-09 (G), washer 605279
(H) and M6 x 35 mm socket head cap screw 920635M
(1. All these parts arein Toal Kit on page 29.

Remove the pulley shaft (J) from the pulley (D) and
replace the pulley bearing. See “Bearing Removal”
subtopic on this page.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

G
D
h H
N ||
PN =" Ny
J
i F
C

Figure 21

Bearing Replacement

Bearing Removal

Use the following procedure to remove pulley bearings:

1

2.

Make sure that the shoulder (M) on the bearing removal
toal iscompletely closed. If it isdightly open it may not
fit into the bearing (P of Figure 23). Use the hex key
wrench extension tool (N of Figure 23), (part number
25-08, item 23 of Tool Kit 2500M on page 29) and
loosen the tapered screw (L of Figure 22) while
compressing the flair (M) inward to make sure that the
tool is completely closed.

l ) M

0070A.1L

Figure 22: Bearing Removal Tool

Insert bearing removal tool (O of Figure 23) into the
pulley (Q) through bearing (P).

Dorner Mfg. Corp.



Lubrication & Maintenance

W

07700727

(G —

-L“““l

(ZZzrrrr

0070B.IL

Figure 23

3. While holding the hex key wrench extension tool (N of
Figure 24), rotate bearing removal tool using flats (O)
to tighten the bearing removal tool’s tapered screw (R)
until theflair (S) of thetool is completely spread open
behind the bearing (P).

N
NN
S Al R
\> N P
T ]fﬂ ﬂTF
\7&_ 2;
U

L

O A L 0070C

Figure 24

4. Support pulley end (T) with bearing anvil/sleeve
removal tool (U), (part number 25-09, item 18 of Tool
Kit 2500M on page 29). Using an arbor press or drill
press, press against the extension tool (N) until bearing
dropsinto anvil/deeve removal tool (U).

IMPORTANT:

Heavy tapping or hammering will damage the bearing
and/or hex key wrench extension tool.

Bearing Replacement
Use the following procedure to install new pulley bearings:

Dorner Mfg. Corp.

1. Holdthe pulley (D of Figure 25) in an upright position
with “V” block or other means. Support the bottom end
of pulley (D) using anvil/sleeve removal tool (U).

NOTE:

Always keep the bearings (F) and pulleys (D) digned dur-
ing ingdling. Misalignment will tilt the bearing and dam-
age it.

2. With an arbor press or drill press, aign the bearing
insertion tool (V), (part number 25-10, item 22 of Tool
Kit 2500M on page 29) with the pulley bore (W).

3. Slide the bearings (F) onto the bearing insertion tool
V).

4. Presshearing (F) firmly and dowly into pulley (D) until
it bottoms out on pulley shoulder (X). If bearing fitstoo
loosely in the pulley bore (W) or if the bore is out of
round, the entire pulley assembly must be replaced.

0071

Figure 25
Pulley Replacement
Replace arepaired pulley or install anew pulley asfollows:
1. Insert pulley shaft (J of Figure 21) into the pulley (D).

Insert pulley (D of Figure 20) between the tail pulley
plates (E).
3. Slidetheretaining deeves (C) through openingsin the tail
pulley plates (E) and into both sides of the pulleys (D).
4. Replace and re-secure the tail cover plates (B) by

installing and securing the tail cover plate screws (A)
and on both sides of the conveyor.

5. Reingdl the conveyor bdt. Refer to the “Conveyor Bdt
Replacement & Adjusments’ section starting on page 20.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 17



Lubrication & Maintenance

Top or Bottom Mount End Drive
Timing Belt Replacement
& Operating Tension Adjustment

Proceed as follows:

1. Before proceeding, disconnect and lockout electrical
power to the drive motor. Then, remove the drive cover.

2. Check the condition of the existing timing belt and
replace if worn. As necessary, loosen the belt tensioning
roller assembly (A of Figure 26) to remove worn belt.

3. Ingal the new timing belt around the drive and driven
pulleys and check so that it is centered on the pulleys and
that the pulleys are in line with each other. Repostion
pulleys, if necessary and then, tighten the pulley set
screws or Taper Lock® bushing screws which fasten the
pulleys to the shafts. Determine which direction the
conveyor bdlt is traveling and position the tensioning roller
assembly on dack Sde of the timing bdt. Refer to “End
Drive Packages’ topic, beginning on page 8, for dternate
belt travel direction information.

4. Adjust timing belt tension by loosening the M12 x 25
mm socket head cap screw and diding the belt
tensioning roller assembly (A) againgt the belt. Tension
should be measured at mid-point (B) on thetension side
of thetiming belt. Asa gtarting point for the tensioning
process, there should be a 1/8" (3 mm) deflection with
6 1b (3kg or 26 N) of force.

Figure 26: Top (left) and Bottom (right)
Drive Timing Belt Adjustment Detail

5. Every timing belt application exhibits its own individua
operating characteristics. The optimum timing belt ten-
sion should be determined experimentally.

If necessary, continue to dide the tensioning roller
assembly against the timing belt until the belt is
tensioned so as to prevent jumping of teeth under the
most severe conditions which the drive will encounter.
Tighten the M12 x 25 mm socket head cap screw after
tension requirements are achieved.

IMPORTANT:

Do not over tension the timing belt. Over tensioning may
cause reduced belt life or bearing and drive damage.

18 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

6. Re-attach the drive cover using the four original M4 x
10 mm button head cap screws.

Center Drive Timing Belt
Replacement & Operating Tension
Adjustment

Center drive packages are available in three (3) configura-
tions: vertical mount, horizontal mount standard load and,
horizontal mount heavy load.

Vertical Mount Center Drive

Proceed as follows:

NOTE:

The standard vertical mount center-driven conveyor belt
usually travels in the direction indicated by the arrow (C
of Figure 27).

1. Before proceeding, disconnect and lockout electrical
power to the drive motor.

2. Remove any air pressure to the pneumatic take-up
cylinder (D). Then, remove the drive cover.

3. Loosen and move thetensioning roller (E) away from
the timing belt.

Install the new timing belt.

With the tensoning roller (E), apply tension to the timing
bdt s0 thet there is a 3/32" (2 mm) deflection (G) for
goproximatdy 8-1/2 pounds (365 N) of force a the
mid-point of the timing belt. After the required tension is
obtained, tightly secure tension roller ataching hardware.

6. Re-attach the drive cover.

£ A
\ {
y - — © @ [} [5)
\ |
@ o)
E\ F
U B
D H

W 0338

Figure 27: Vertical Center Drive Timing Belt
Adjustment Detail

Dorner Mfg. Corp.



Lubrication & Maintenance

Horizontal Mount Center Drive (Heavy 4.
Load or Standard Load)

To install a new Poly-V" drive belt and apply correct 5.
operating tension, proceed as follows:

NOTE: 6

The heavy load or standard load horizontal mount cen- 7.
ter-driven conveyor belt always travels in the direction
indicated by the arrow (C of Figure 28).

1. Before proceeding, disconnect and lockout electrical
power to the drive motor.

2. Remove any air pressure to the pneumatic take-up
cylinder (D). Then, remove the drive cover.

3. Completely release compression spring tension (1) by

With spring tension relieved, 1oosen the block anchor
screws (L) to alow the idler pulley assembly (M) to
move away from the Poly-V" belt (N).

Be sure that the driven pulleys (O) are correctly aligned
with the drive pulley (P). After proper aignment is
achieved, be sure to tightly secure al related pulley
mounting hardware.

Install the new Poly-VU belt (N).

With the new belt installed, apply correct operation
tensioning by performing the following steps:

a.  With the block anchor screws (L) loosely at-
tached and the adjustment screw (K) backed-out
completely, didethe block and idler assembly in
the direction of the Poly-V" belt until the belt is
fairly taut. At this point, tighten the block anchor
screws (L).

b. Completely tighten the adjustment screw (K) to
apply correct compression spring tension to the
Poly-V" belt.

backing-out the adjustment screw (K). 8. Re-attach the drive cover.

. c— > .
E {
\

h o A

Figure 28

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 19



Conveyor Belt Replacement & Adjustments

Conveyor Belt Replacement

General Information

1. Disconnect all electrical power sources.

2. To fadlitae re-assambly, mark any critica locations for
accessory atachments dong the entire Sde of the conveyor
frame from which the bdlt is going to be removed.

3. Always position and install the new conveyor belt so
the belt splice leading finger (B of Figure 29) pointsin
the direction of travel (A), on either side, is as shown.

0064

Figure 29: Replacement Belt Orientation
Detail

Low-sided Conveyor Guiding

Low-gded flat belt conveyor may be equipped with guiding (C
of Figure 30) on both sSides of the conveyor. When the conveyor
bdt is going to be replaced, the guiding must be temporarily
removed, from the dde opposte the gearmotor mounting
package, S0 that the exigting conveyor belt can be removed from
thet section and the new bdlt indaled.

Figure 30: Low-sided Conveyor Guiding
Removal Detail

The guiding on the ends of the conveyor may be secured with
end guide mounting clamps (D) which are secured to the tail
plate coverswith two (2) M6 x 18 mm button head cap screws.

20 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Guiding, in al other places is secured with appropriate
quantities of guide retaining clips (E), M6 x 18 mm button
head cap screws and single drop-in T-bars.

Be sure to mark (or make appropriate notations) of the clip (E)
positions and guide section (C) locations. Then, remove
guiding from the side of the conveyor opposite the gearmotor.

To remove the guiding, refer to Figure 30 and loosen, remove
and retain the guide clamps. Guide replacement isin reverse
sequence of removal.

High-sided Conveyor Side Wipers

Standard high-dded flat belt conveyor may be equipped with sde
wipers (F of Figure 31). These Sde wipers must be temporarily
removed from both sdes of the conveyor so that the existing
conveyor bt can be removed and the new bet ingaled.

Figure 31: Optional Side Wipers
Installation Detail

End-driven Conveyors

AR A

To prevent injury, make sure all electrical
power has been disconnected before you
perform any maintenance, make any ad-
justments or replace any components. In
addition, the weight of the gearmotor is all
on one end of the conveyor. This could
cause the conveyor and stand to tip over
when the anchor components are re-
moved. There should be some form of ex-
tra support (L of Figure 33) for the gear-

motor while the conveyor belt is being

changed:

Releasing Conveyor Belt Tension

The following procedure should be used to release the
conveyor belt tension, before proceeding to remove the old
belt.

1. Locate the belt tension end (K of Figure 32) of the
conveyor.

Dorner Mfg. Corp.



Conveyor Belt Replacement & Adjustments

On a standard high-sided conveyor only, remove
each filler plate screw (H) and each filler plate (G) from
both sides of the conveyor.

If engaged, oosen the belt tracking cam assemblies (1),
on both sides of the tensioning end (J). Slide the cam
assemblies toward the middle of the conveyor.

Loosen thetail cover plate screws (L), on both sides of
the tensioning end.

Collapse the tensioning end (J) of the conveyor by
pushing it back into the conveyor frame, using the heel
of your hand. Thiswill sufficiently loosen the belt for
removal.

Figure 32

Belt Removal

1.

Wherever possible, conveyor belt should always be
removed from the side opposite the gearmotor, In
addition, remove any controls, stops or other attached
accessories, from that side, which could interfere with
belt removal.

Referring to Figure 33, safely and temporarily support
the conveyor section with a sturdy support mechanism
(L) (such as wooden blocks or a sawhorse).

NOTE:

For additional details, refer your Metric Support Stands
and Conveyor Mountings Parts, Assembly & Mainte-
nance Manual.

Dorner Mfg. Corp.

Remove and retain the mounting clamp plate screw (N
of Figure 33) and clamp plate (M) from the both sides
of the conveyor.

With the clamp plates (M) removed from both sides of
the conveyor, carefully raise-up the side opposite the
gearmotor and didethe old belt sdewaysand awvay from
conveyor.

As necessary, remove the old conveyor belt, section by
section, until it is completely off.

Figure 33

Belt Replacement

1

Install the new conveyor belt by raising the side
opposite the gearmotor and diding belt sideways
between the bottom of conveyor and the top of the
mounting bracket return belt roller.

As necessary, inddl the new conveyor belt, section by
section, until it is completely in position around conveyor.
Then, replace and re-secure the clamp plates (M) and
mounting clamp plate screws (N).

NOTE:

On low-side conveyors, do not replace the guiding, at
this time. Replace the guiding after proper conveyor belt
tension has been achieved.

Make sure all hardware, that was either removed or
loosened, is replaced and properly tightened. Do nat,
tightly secure the tail cover plate screws, at thistime.
Refer to procedures under the “End Driven Conveyors’
subtopic in the “Start-up & Prdiminary Adjusments’
section on page 12 for conveyor bt tenson adjusment
procedures.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 21



Conveyor Belt Replacement & Adjustments

6. Refer tothe“Conveyor Belt Tracking” informationin
the Start-up & Preliminary Adjustments section on
page 13 for belt tracking procedures.

7. On low-side conveyors, replace the guiding.

8.  After the proper belt tension and tracking is established,
replace the controls, sops and other attached accessories
referring to the positions previously marked.

Center-driven Conveyors

Preferred Method of Conveyor Belt
Removal & Replacement

NOTE:

The preferred method for conveyor belt replacement is
to order a replacement belt already cut to length with
splicing fingers pre-cut on each end. The new belt can
then be fused on location with a Belt Splicer either pur-
chased or rented from an authorized Dorner Service
Center or the factory.

The following belt replacement procedure is preferred for
long conveyors and/or those used in systems with complex
mounted controls, guides and accessories.

PN warnine FN

To prevent injury, make sure all electrical
and pneumatic power sources have been
disconnected and locked-out before you
perform any maintenance, make any
adjustments or replace any components.

Disconnect all pneumatic and electrical power sources.

Remove air pressure from the take-up air cylinder (A of
Figures 34 & 35).

3. To fecilitate re-assembly, mark critical locations on
conveyor frame and remove guiding, controls, stops
and other attached accessories which will interfere with
belt removal.

4. Open the horizontal Poly-VH belt drive cover (B of
Figure 34) or the vertical timing belt drive cover (B of
Figure 35) and release drive belt tension. Then, remove
the drive belt so the drive pulleysrotate freely.

5. Cut the old belt perpendicularly to the conveyor center-
line.

6. Tape (D) one end of the new belt (C) to one end of the
old belt (E).

o O
=

©°

=
%e—}o“
—

ﬂI::>
=

Figure 34

o
|
=}
W)

Figure 35

22 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



Conveyor Belt Replacement & Adjustments

7. Rotate the old belt in the direction shown to pull the new
belt into the conveyor while pulling the old belt out.

8. New belts without splice fingers are to be cut using a
Dorner belt cutting tool following instructions pro-
vided with the cutting tool.

9. Fusethe new belt in place with a Dorner 7000 Series
auto belt splicer following instructions provided with
the belt splicer.

NOTE:

It may be necessary to remove a tail section to allow
enough belt slack for splicing. Appropriate operating
instructions are contained in the 7000 Series Finger
Splice Cutter publication (Dorner 851-103) or in the
7000 Series Auto Cycle Belt Splicer publication (Dorner
851-102).

NOTE:

A Metal hook/Clipper” splice may be used in place of a
fused splice. For this type of conveyor belt, it is only nec-
essary to remove the lacing pin to uncouple the two ends
of the belt. Then, after the belt is pulled into and through
the center drive and around the conveyor (using the old
belt), the ends can be brought together and linked by the
lacing pin.

10. Replace and re-secure tail section (if removed) and
tightly secure the tail cover plate screws.

11. Replace and re-tension the drive belt. Then, replace the
drive cover.

12. Install the belt tracking guide assemblies on the
discharge end of low side conveyors longer than 14 ft
(4.5 m). Refer to Figure 3 on page 5.

13. Make surethe conveyor belt tension is set properly. Refer
to “Center-drive Conveyors’ subtopic under the “Con-
veyor Belt Tenson Adjustment” topic on page 13.

14. Replace any other itemsthat were removed for the belt
replacement.

15. Maketracking adjustments as needed. Refer to “Con-
veyor Belt Tracking” topic on page 13.

Alternate Method for Re-threading Conveyor Belt
Through Center Drive Module

The following belt replacement procedure should be used for
ingtalling a replacement conveyor bet, with splice fingers,
through the center drive module, without dropping the module.

All Center Drive Conveyors

AT A

To prevent injury, make sure all electrical
and pneumatic power sources have been
disconnected and locked-out before you
perform any maintenance, make any

adjustments or replace any components.

1. Disconnect dl pneumetic and dectrical power sources.

2. Removeair pressure from the take-up air cylinder (F of
Figures 36 & 37).

3. To facilitate re-assembly, mark critical locations on
conveyor frame and remove guiding, controls, stops
and other attached accessories which will interfere with
belt removal.

4. On one end of the conveyor, remove atail section by
loosening thetail cover plate screws and diding the tail
out from the conveyor.

Figure 36

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 23



Conveyor Belt Replacement & Adjustments

Belt Installation on Horizontal Center Drive Conveyors
Only (Alternate Method)

5. Open the horizontal Poly-VY belt drive cover (B of
Figure 34) and release drive belt tension. Then, remove
the drive belt so the drive pulleys rotate freely.

6. Refer to Figure 36 and remove both take-up pulleys (G
of Figure 36).

7. Remove the two take-up guides (I) from one side.
Remove the inner and outer take-up plate assemblies
and slide out both pulleys and shafts.

8. Remove the fixed position idler pulley (M). Remove
the shaft retaining clip from one side and push out the
shaft. Then, remove the pulley.

9. Remove the lower drive pulley (N) from the drive
pulley shaft. Remove the drive bearing assembly, from
one side. Then, pull the drive pulley out of the center
drive unit.

10. Withthe pulleys and shafts (G, M and N) removed, the
splice fingers of the correctly oriented replacement
conveyor belt can be brought into the center drive
module and routed around the two remaining pulleys as
shown in Figure 36.

NOTE:

Make sure that the replacement belt is proper oriented
with respect to the direction of travel. Refer to Figure 29
on page 20. All horizontal center-driven conveyor belts
travel in the direction indicated by the arrow (C of Figure
36).

11. Form alarge loop with the conveyor belt inside the
module and re-install the lower drive pulley (N), drive
pulley shaft and the drive bearing assembly. Make sure
al three elements are correctly positioned before
tightly securing the bearing hardware.

12.  Onthe gppropriate Sde of the belt loop, replace the fixed
position idler pulley (M) and pulley shaft. Re-secure the
shaft by re-attaching the shaft retaining clip.

13. Replace both take-up pulleys (G) and the inner and
outer take-up plate assemblies. Then, replace the two
take-up guides (). Again, make sure all elements are
correctly aligned before tightly securing the take-up
bar attaching hardware.

14. After the conveyor belt has been properly replaced and
re-routed through the center drive module, replace the
horizontal Poly-VT belt drive, restore drive belt tension
and replace the drive belt cover (B of Figure 34).

15. Complete the splicing process by skipping to step 1, on
the next page.

Belt Installation on Vertical Center Drive Conveyors
Only (Alternate Method)

1. Openthevertical timing belt drive cover (B of Figure
35) and release timing belt tension (L of Figure 37).

24 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Then, remove the timing belt so the drive pulleys rotate
freely.

2. Remove the take-up covers.

cr— >

Z=3\ Z=S3

0338

Figure 37

3.  Removethetake-up pulley (G).

4. Loosen (but do not remove) the take-up bearing locking
collars, on both ends of the take-up pulley.

5. Loosen the take-up bar (H) from the bearing on one Sde
and remove the take-up guides (1) from that same side.

Pull the take-up bearings and pulley out of the drive.

Next, remove the center idler pulley (J) by removing
the end plate from both ends of the pulley shaft and
push the shaft out from the drive. Then, remove the
idler pulley.

8. With the pulleys and shafts (G and J) removed, the
splice fingers of the correctly oriented replacement
conveyor belt can be brought into the center drive
module and routed around the three remaining pulleys
as shown in Figure 37.

NOTE:

Make sure that the replacement belt is proper oriented
with respect to the direction of travel. Refer to Figure 29
on page 20. All horizontal center-driven conveyor belts
travel in the direction indicated by the arrow (C of Figure
36).

9. Form alarge loop, with the conveyor belt, inside the
module and re-install the center idler pulley (J) on the
appropriate side of the belt loop. In conjunction with
the pulley, re-assemble the end plates and the pulley
shaft. Make sure all three elements are correctly
positioned before tightly securing the shaft retaining
clip hardware.

Dorner Mfg. Corp.



Conveyor Belt Replacement & Adjustments

10. Replace thetake-up guides (1). Then, replace, align and
secure the take-up bar (H).

11. On the appropriate Sde of the belt loop, replace the
take-up pulley (G) and the take-up bearing locking
collars, on both ends of the take-up pulley. Again, make
sure all elements are correctly aligned before tightly
securing the bearing locking collars.

12.  After the conveyor bet has been properly replaced and
re-routed through the center drive module, replace the
timing belt, restore timing belt tension and replace the
drive belt cover (B of Figure 35).

Belt Fusing and System Restoration

1. Fusethe new belt in place with a Dorner 7000 Series
auto belt splicer following instructions provided with
the belt splicer.

NOTE:

It may be necessary to remove a tail section to allow
enough belt slack for splicing. Appropriate operating
instructions are contained in the 7000 Series Finger
Splice Cutter publication (Dorner 851-103) or in the
7000 Series Auto Cycle Belt Splicer publication (Dorner
851-102).

Dorner Mfg. Corp.

Install the belt tracking guide assemblies on the
discharge end of low side conveyors longer than 14 ft
(4.5 m). Refer to Figure 3 on page 5.

Make sure the conveyor belt tension is st properly. Refer
to “Center-drive Conveyors’ subtopic under the “Con-
veyor Belt Tension Adjustment” topic on page 13.

Replace any other items that were removed for the belt
replacement.

Make tracking adjustments as needed. Refer to “ Con-
veyor Belt Tracking” topic on page 13.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 25



Troubleshooting Guide

Bearings
Problem Possible Cause Solution
Bearing failing or Grit getting into bearing. Bearing not being | Maintain regular lubrication routine. Side

seizing [tail section
with 1" (25 mm)
Pulleys Only]

Note: All other
bearings have been
lubricated for life and
sealed.

properly lubricated.

wipers may be needed along with increased
frequency of lubrication.

Solvent getting into bearings.

Same as above. Keep grease fittings in
retaining sleeves. Install guards and filt
conveyor to reduce amount of solvent on
conveyor.

Excessive heat in application.

Increase frequency of lubrication.

Damage due to improper re-assembly.

Use tool kit for proper re-assembly.

Gearmotor
Remove power before attempting to re-wire
motor or system electrical control.
Problem Possible Cause Solution

Motor cuts out
intermittently.

Overloading.

Check conveyor load. Use torque wrench to
determine input torque. Check for guides or
accessories rubbing on belt. Check belt
tracking.

Improper cooling.

Check motor
temperature.

operation and ambient

Motor running hot.

Note: 1/3 hp Baldor
normally runs at
170°F (77°C).

[above 170°F (77°C)].

Overloading.

Check ampere draw, replace motor, reduce
conveyor load.

Jammed part.

Remove jam.

Incorrect voltage/wiring.

Check wiring diagram.
change wiring.

Replace motor or

Improper cooling.

Reduce excessive ambient temperature.

Conveyor runs in
wrong direction.

Improper wiring.

Check wiring diagram.

Oil leaking from
gearbox.

Broken seal.

Contact manufacturer for replacement parts or
Dorner for further information. Contact Dorner
for new gearbox.

Qil vent plug installed below oil level.

Reinstall vent plug well above oil level.

QOil level too high.

See instructions for gearbox oil capacity.

Failure to install vent plug.

Contact Dorner to locate a manufacturer's
service representative or to order a new gear
reducer.

Gear Reducer

Problem

Possible Cause

Solution

Oil/grease leaking
from gearbox.

Broken seal.

Contact manufacturer for replacement parts or
Dorner for ordering new gear reducer.

Qil vent plug installed below oil level.

Re-locate plug above oil level.

26

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




Problem

Possible Cause

Solution

Oil level too high.

See manufacturer’'s oil amount
recommendation.

Vent plug not installed.

Contact manufacturer for replacement parts or
Dorner for ordering new gear reducer.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 27




Troubleshooting

Vertical Center Drive Timing Belt

Guide

Problem

Possible Cause

Solution

Intermittent conveyor
belt travel.

Timing belt is too loose.

Adjust belt tension. Refer to “Timing Belt
Tension Adjustment” beginning on page 8.

Worn or damaged timing (drive) belt.

Replace defective timing belt.

Conveyor Belt

Problem

Possible Cause

Solution

Belt slipping.

Belt is too loose.

Adjust belt tension. If belt is still loose, replace
belt. Note: Belt may have stretched. See
“Belt Stretching” problem.

Dirt impacted in knurl on end of driven pulley.

Clean pulley.

Knurl worn on driven pulley.

Replace pulley.

Excessive weight on conveyor. Note: May be
a combination of drive “pushing” belt or
magnets too strong for application.

Reduce weight on conveyor by reducing
production rate, or increasing belt speed.

Drive is “pushing” belt. Note: May be a
combination of this and excessive weight
on conveyor.

Move end drive to discharge end of conveyor.
Turn center drive 180° so gearmotor and driven
pulley are towards discharge end.

Magnets, where provided, are too strong for
application.

Increase belt speed or replace magnetic
bedplate.

Debris wedged in belt path or in conveyor.

Clean conveyor and install chute and/or wipers.

Belt stretching.

Solvent or chemical reaction with belt.

Remove solvent or try a different belt material.
Test solvent with belt sample. Note: Belt type
conveyor may not be applicable.

Belt repeatedly stalled, causing pulley to wear
or “burn” in to backside of belt.

Replace belt and identify reason for stalling.

Cuts on belt surface.

Side wipers damaged or missing, allowing
material to get under belt.

Replace or add wipers as needed.

Sharp parts penetrating belt surface.

Install baffle to reduce energy of falling part.

Guides or accessories rubbing on belt.

Adjust as necessary.

Worn belt edges.

Debris impacted on pulleys can cause belt
tracking problems.

Clean pulleys. Correct source of contamination.
See Belt Tracking Incorrectly below.

Belt tracking incorrectly.

Refer to “Belt Tracking Adjustment”, page 13.

Belt breaking at
splice.

Solvent or chemical reaction with belt.

Remove solvent or try a different belt material.
Test solvent with belt sample. Note: Belt type
conveyor may not be applicable.

Belt tracking incorrect-
ly.

Drives not perpendicular to conveyor center
line.

Reposition drive(s), if necessary.

Frame misalignment. Note: Frame mounting
surface maybe misaligned.

Frame mounting must be straight and in the
same plane. Check with a straight edge and
level.

Frame distortion due to damage.

Repair or replace frame components and/or
bed plate. Check with a straight edge.

Side force being applied to belt.

Check for jammed part or mechanical pusher
force on belt.

Belt tracking cam incorrectly adjusted.

Refer to “Belt Tracking Adjustment”, page 13.

Hot spots on frame or drive side plates from belt
edge rubbing.

Adjust belt tracking. Refer to “Belt Tracking
Adjustment”, page 13.

28

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




3100 Series Flat Belt Conveyors Tool Kit

Tool Kit - Part Number 2500M-ENG

17
23

Container with
X 26
Miscellaneous
Parts /
ms 11-16

Storage
Space for
Hex Keys
Iltems 1
through 6,
10, & 27
through 30
0154
Item| Part No. Description Qty. Item| Part No. Description Qty.
1 807-562 |Hex Key, 2.5 mm Long Arm 2 16 | 920406M | Socket Head Cap Screw, 6
2 | 807-563 |Hex Key, 3 mm Long Arm 2 M4-0.70 x 6 mm
3 | 807-564 |Hex Key, 4 mm Long Arm 2 17 | 200046M |Greasing Adapter 1
4 | 807-565 |Hex Key, 5 mm Long Arm 2 18 Retaining Sleeve/Bearing Removal 1
5 807-566 |Hex Key, 6 mm Long Arm 1 25-09 Tool
19 | 920635M | Socket Head Cap Screw, 1
6 807-568 |Hex Key, 8 mm Long Arm 1 M6-1.0 x 35 mm
7 807-610 |Hex Key, 3 mm T-Handle 1 20 605279 |Washer, Special 1
8 | 807-609 |Hex Key, 4 mm T-Handle 1 21 | 906-278 |Bolt, Special Threaded 1
9 | 807-569 |Hex Key, 5 mm T-Handle 1 22 25-10 |Bearing Insertion Tool 1
10 807-577 |Torx® Key T-25 Short Arm 1 23 2508 Hex Key Extension Tool 1
11 | 200039M |Belt Tracking Cam 2 2" (44 mm) to 12" (610 mm)
12 | 300353MP | Special Flat Head Cap Screw, 8 24 25-05 Bearing Removal Tool 1
M4-0.70 x 10 mm 25 | 300362M | Tail Installation Tool 2
13 | 910506M ) Bution Head Cap Screw, 4 26 | 661451 |Tool Box 2500M-ENG 1
14 |910510M | Button Head Cap Screw, 4 27| 807-518 |Hex Key, 1/8” Long Arm L
M5-0.80 x 10 mm 28 | 807-520 |Hex Key, 3/16" Long Arm 1
15 | 910612M | Button Head Cap Screw, 4 29 | 807-528 |Hex Key, 7/32" Long Arm 1
M6-.1.0 x 12 mm 30 807-521 |Hex Key, 1/4" Long Arm 1

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 29



Replacement Parts

3100 Series Flat Belt Conveyors

Conveyor Belt Part Number

DD-WWLL/BB

Belt Type: See below.

Nominal Conveyor Length in feet.
Nominal Belt Width in inches.
Conveyor Type:
End Drive = 30
Vertical Center Drive = 31

Standard Load Horizontal Center Drive = 32

Heavy Load Horizontal Center Drive = 33

Belt Type - BB

/01 Accumulator Top FDA Approved 80-90 Durometer
surface hardness. Products may be accumulated on
the low friction surface of this belt. Maximum part
temperature is 176 °F (80 °C). Smooth, thermally
welded zig-zag splice*. Belt thickness about 0.063"
(2.6 mm).

/02 Standard Urethane 75-85 Durometer surface
hardness. This is our standard belting, very durable
and works well in most applications. Maximum part
temperature is 212 °F (100 °C). Smooth, thermally
welded zig-zag splice*. Belt thickness about 0.071"
(2.8 mm).

/03 Soft Urethane FDA Approved 70-80 Durometer
surface hardness. This belt provides more surface
friction and is more resistant to chemicals than /01 or
/02. Maximum part temperature is 176 °F (80 °C).
Smooth, thermally welded zig-zag splice*. Belt
thickness about 0.063" (1.6 mm).

/04 Gray Friction Belt This belt provides a high degree of
surface traction when clean and dry. It can be used to
convey parts up inclines or in other applications where
parts must not slide on the belt surface. This belt
should not be used with very small or sharp parts.
Maximum part temperature is 158 °F (70 °C). Smooth,
thermally welded zig-zag splice*. Belt thickness about
0.083" (2.1 mm).

30 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

NOTE:

04 Gray Friction Belt cannot be used with 03 and/or 06
Side Profiles.

EXAMPLE: #2 Standard Urethane replacement belt for an
end drive conveyor measuring 5" (127 mm) wide x 8’
(2438 mm) long would be Part Number 30-0508/02.

NOTE:

All belts include a thermally welded finger splice*. If
Clipper” spliced belt is required, add a “-C” suffix.

EXAMPLE: Part No 30-0508/02-C

NOTE:

For replacement belting on vacuum and specially
modified conveyors, contact factory with model & order
numbers for replacement information.

/05 Woven Polyester Belt Offers advantages in low
friction product accumulation. Maximum part
temperature is 212 °F (100 °C). Smooth, thermally
welded zig-zag splice*. Belt thickness about 0.047"
(1.2 mm).

/06 Black Anti-Static Belt Is a carbon impregnated
polyester belt used where an anti-static/conductive
belt is required. Belt should be tested per application
for resistance to ground. Maximum part temperature
is 230 °F (110 °C). Smooth, thermally welded zig-zag
splice*. Belt thickness about 0.063" (1.6 mm).

/07 Heat Resistant Belt This belt resists product
temperatures up to 358 °F (180 °C). Smooth,
thermally bonded zig-zag splice*. Belt thickness about
0.051" (1.3 mm).

* Thermal splice is standard. Clipper® splice is available
upon request.

Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Intermediate Sections

Conveyors

with

Low Sides

0316

Item | Part No. Part Description

1 See Chart | Bedplate

2 300353MP | Bedplate Screw, M4-0.70 x 10 mm

3 See Chart Rail Nut Strip

4 See Chart Center Rail

5 910516M Button Head Cap Screw, M5-0.80 x 16 mm
6 930525M Flat Head Cap Screw, M5-0.80 x 25 mm

7 910525M Button Head Cap Screw, M5-0.80 x 25 mm
8 See Chart Side Rail, Non-tension End, Low Side

9 See Chart Side Rail, Non-tension End, High Side

10 See Chart Center Rail, Tension End

11 307201 Spacer, Nut Strip (see page 32)

Conveyors with High Sides

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 31



Replacement Parts

3100 Series Flat Belt Conveyors

NOTE: Intermediate sections are available in standard nominal lengths and widths as shown below. The 18" (457 mm) bedplate
uses a combination of a 10" (254 mm) and an 8" (203 mm) bedplate (laid side by side), the 24" (610 mm) bedplate uses a
combination of two 12" (305 mm) bedplates (laid side by side), the 30" (762 mm) bedplate uses a combination of three 10" (254
mm) bedplates (laid side by side), the 36" (915 mm) bedplate uses a combination of three 12" (305 mm) bedplates (laid side by
side) and, the 40" (1016 mm) bedplate uses a combination of four 10" (254 mm) bedplates (laid side by side). Each pair of nut strips,
used to secure the bedplates, are separated by a nut strip spacer (11).

3010LL

3008LL

3012LL
< Bedplat
|

3012LL
] < Bedplat ]

18" Bedplate > Bedplateﬂ 24"
(457 mm) - k- = (610 mm) - i
B il 5 il
I 307210 307208 ] I 307212 307212 |
Nut Strip 11 Nut Strip Nut Strip 11 Nut Strip
3010LL 3010LL 3010LL 3012LL 3012LL 3012LL 3
30" Bedplat > Bedplat > Bedplate ) 36" ‘ Bedplat Bedplate Bedplate
(762 mm) F—4&- | o (915 mm)W
I 307210 307210 307210 i Iy 307212 307212 307212
Nut Strip 11 Nut Strip 11 Nut Strip Nut Strip 11 Nut Strip 11 Nut Strip
3010LL 3010LL 3010LL 3010LL
40" Bedplat 3 ( Bedplat 3 < Bedplat 3 < Bedplate 3
ol Iy
307210 307210 307210 307210 1
Nut Strip 11 Nut Strip 1 Nut Strip 11 Nut Strip
Bedplate item 1
Length in ft (mm)
width in
“(mm) | 2(610) 3(915) | 4(1220) | 5(1525) | 6(1830) | 7(2135) | 8(2440) | 9(2745) | 10(2050) | 11 (3355) | 12 (3660)
300402P | 300403P | 300404P | 300405P | 300406P | 300407P | 300408P | 300409P | 300410P | 300411P | 300412P
5(127) | 300502P | 300503P | 300504P | 300505P | 300506P | 300507P | 300508P | 300509P | 300510P | 300511P | 300512P
6 (152) | 300602P | 300603P | 300604P | 300605P | 300606P | 300607P | 300608P | 300609P | 300610P | 300611P | 300612P
8(203) | 300802P | 300803P | 300804P | 300805P | 300806P | 300807P | 300808P | 300809P | 300810P | 300811P | 300812P
10 (254) | 301002P | 301003P | 301004P | 301005P | 301006P | 301007P | 301008P | 301009P | 301010P | 301011P | 301012P
12 (305) | 301202P | 301203P | 301204P | 301205P | 301206P | 301207P | 301208P | 301209P | 301210P | 301211P | 301212P
300802P | 300803P | 300804P | 300805P | 300806P | 300807P | 300808P | 300809P | 300810P | 300811P | 300812P
18 (457) |& 301002P | &301003P [& 301004P |& 301005P |& 301006P |& 301007P |& 301008P |& 301009P |& 301010P | &301011P | &301012P
301202P | 301203P | 301204P | 301205P | 301206P | 301207P | 301208P | 301209P | 301210P | 301211P | 301212P
24 (610) |& 301202P | &301203P [& 301204P |& 301205P |& 301206P [& 301207P |& 301208P | &301209P | &301210P |& 301211P | &301212P
36 (915) | 301202P | 301203P | 301204P | 301205P | 301206P | 301207P | 301208P | 301209P | 301210P | 301211P | 301212P
(Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3) (Qty. 3)
40 (1016) | 301002P | 301003P | 301004P | 301005P | 301006P | 301007P | 301008P | 301009P | 301010P | 301011P | 301012P
(Qty.-4) | Q-4 | Qy.-4) | (Qiy-4) | Q.4 [ (Qty.-4) (Qty- 4) (Qty- 4) (Qty- 4) (Qty- 4) (Qty. 4)
Rail Nut Strip Center Rail Side Rail Center Rail, Tension
Item 3 Item 4 Items 8and 9 End Item 10
Width Part No. Width Part No. - - width Part No.
4 (95 mm) 307204M Length in| Low | High
4" (95 mm) 300204M ft (mm) | Side | Side 4" (95 mm) 303304M
5" (127 mm) f 307205M 5" (127 mm) | 300205M 2 (610) 303502303602 5" (127 mm) | 303305M
6"(152mm) | 307206M 6" (152mm) | 300206M 3(915) |303503|303603 6" (152 mm) | 303306M
8" (203 mm) | 307208M 8" (203mm) | 300208M 4 (1220) |303504 303604 8" (203 mm) | 303308M
107(203 mm) | - 307210M 10" (254 mm) | 300210M 5(1525) |303505 303605 10" (254 mm) | 303310M
12" (43125 mm) 333;3;2,\/"\"& 12" (305 mm) | 300212M 6 (1830) |303506|303606 12" (305 mm) | 303312M
T | S || o | swa || 1659w e | o
" 24" (610 300224M 24" (610 303324M
24" (610 mm) |307212M (2x) (610 mm) 9 (2745) |303509|303609 (610 mm)
30" (762 mm) |307210M (3x) 30" (762 mm) | 300230M 10 (2050) |303510303610 30" (762 mm) | 303330M
36" (915 mm) |307212M (3x) 36" (915 mm) | 300236M 11 (3355) |303511 (303611 36" (915 mm) | 303336M
40" (1016 mm) | 307210M (4x) 40" (1016 mm) | 300240M 12 (3660) |303512/303612 40" (1016 mm) | 303340M

32

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




3100 Series Flat Belt Conveyors Replacement Parts

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page
73.

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 33



Replacement Parts

3100 Series Flat Belt Conveyors

Fixed End Tail Assembly — 3" (76 mm) Pulley

7

/
H\0O®

/

Y 4

34 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

/-h
)

9
V

o
-/

Tail Bed Plate for 18 to 40"
(457 & 1016 mm) widths

Tail Plate for
20 High Side Conveyors

Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300158M | Threaded Bushing 22 326704 Idler Pulley Ass’y 4" (95 mm)

2 807-384 | Spring Washer 326705 Idler Pulley Ass’y 5" (127 mm)

3 301304 Tail Bedplate, Non-tension End, 4" (95 mm) 326706 Idler Pulley Ass’y 6" (152 mm)
301305 Tail Bedplate, Non-tension End, 5" (127 mm) 326708 Idler Pulley Ass’y 8" (203 mm)
301306 Tail Bedplate, Non-tension End, 6" (152 mm) 326710 Idler Pulley Ass’y 10" (254 mm)
301308 Tail Bedplate, Non-tension End, 8" (203 mm) 326712 Idler Pulley Ass’y 12" (305 mm)
301310 Tail Bedplate, Non-tension End, 10" (254 mm) 326718 ldler Pulley Ass’y 18" (457 mm)
301312 Tail Bedplate, Non-tension End, 12" (305 mm) 326724 Idler Pulley Ass'y 24" (610 mm)
301318M | Tail Bedplate, Non-tension End, 18" (457 mm) 326730 Idler Pulley Ass’y 30" (762 mm)
301324M | Tail Bedplate, Non-tension End, 24" (610 mm) 326736 Idler Pulley Ass’y 36" (915 mm)
301330M | Tail Bedplate, Non-tension End, 30" (762 mm) 326740 Idler Pulley Ass’y 40" (1016 mm)
301336M | Tail Bedplate, Non-tension End, 36" (915 mm) 23 326604 Aluminum Pulley Tube, 4" (95 mm)
301340M | Tail Bedplate, Non-tension End, 40" (1016 326605 Aluminum Pulley Tube, 5" (127 mm)

mm) 326606 | Aluminum Pulley Tube, 6" (152 mm)

4 | 300155M | Bed-Link Mounting Block 326608 | Aluminum Pulley Tube, 8" (203 mm)

5 920650M | Socket Head Cap Screw, M6-1.0 x 50 mm 326610 Aluminum Pulley Tube, 10" (254 mm)

6 930512M | Flat Head Cap Screw, M5-0.80 x 12 mm 326612 Aluminum Pulley Tube, 12" (305 mm)

7 | 303018M | Bedplate Tail Bar, 18" (457 mm) 326618 | Aluminum Pulley Tube, 18" (457 mm)
303024M | Bedplate Tail Bar, 24" (610 mm) 326624 | Aluminum Pulley Tube, 24" (610 mm)
303030M | Bedplate Tail Bar, 30" (762 mm) 326630 | Aluminum Pulley Tube, 30" (762 mm)
303036M | Bedplate Tail Bar, Tension End, 36" (915 mm) 326636 Aluminum Pulley Tube, 36" (915 mm)
303040M | Bedplate Tail Bar, Tension End, 40" (1016 326640 Aluminum Pulley Tube, 40" (1016 mm)

mm) - 24 802-110 | Ball Bearing (Set Screws Removed)

8 200331M | Cam Mounting Ass'y — -

10 | 910612M | Button Head Cap Screw, M6-1.0 x 12 mm 25  |915:051 | Retaining Ring :

n 200038M | Cam Clamping Plate 26 301904 Idler Shaft 4" (95 mm) W|d§

12 |200341M | cam Retaining Block 301905 | ldler Shaft 5" (127 mm) Wide

13 200039M | Belt Tracking Cam 301906 Idler Shaft 6” (152 mm) W?de

12 300150M | Drop-In T-bar 301908 Idler Shaft 8" (203 mm) Wide

15 300152M | T-bar 301910 Idler Shaft 10" (254 mm) Wide

16 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 301912 \dler Shaft 12" (305 mm) W?de

17 300028M | Tail Cover Plate, Right Hand, 3" (76 mm) 301918 Idler Shaft 18" (457 mm) W!de

18 | 300052M | Tail Plate, Right Hand (Low Side), 801924 | \dier Shaft 24” (610 mm) Wide

3" (76 mm) 301930 | Idler Shaft 30" (762 mm) Wide
300050M | Tail Plate, Right Hand (High Side), 301936 | Idler Shaft 36" (915 mm) Wide
3" (76 mm) 301940 Idler Shaft 40" (1016 mm) Wide

19 930612M | Flat Head Cap Screw, M6-1.0 x 12 mm

20 300053M | Tail Plate, Left Hand (Low Side), 3" (76 mm)
300051M | Tail Plate, Left Hand (High Side), 3" (76 mm)

21 300029M | Tail Cover Plate, Left Hand, 3" (76 mm)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 35




3100 Series Flat Belt Conveyors

AR N

Dorner Mfg. Corp.

Replacement Parts

Fixed End Tail Assembly 1" (25 mm) Pulleys

1)
=
=
o
2
\Wl AN /\\
N A
g £ ISROTNN N
85 ) 4 \
asg m23/ \
=
=R~ /i AN o
Lo AR > o2
m %9 — A S %5
=~ / ~ / B2 5
=710 — © < SHh o
£es SRS al2
o <X (/\ 5 M.mum
P IO
L o5
T2 >
© N
a2 «
||||||||| ”Wm
T o
a0

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

36



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300158M | Threaded Bushing 22 300035M | Retaining Sleeve Ass'y

2 807-384 | Spring Washer 23 300036M | Retaining Sleeve

3 301304 Tail Bedplate, Non-tension End, 4" (95 mm) 24 810-292 | Grease Fitting
301305 Tail Bedplate, Non-tension End, 5" (127 mm) 25 303104 Pulley Ass'y, 4" (95 mm)
301306 Tail Bedplate, Non-tension End, 6" (152 mm) 303105 Pulley Ass'y, 5" (127 mm)
301308 Tail Bedplate, Non-tension End, 8" (203 mm) 303106 Pulley Ass'y, 6" (152 mm)
301310 Tafl Bedplate, Non—tens!on End, 10" (254 mm) 303108 Pulley Ass'y, 8" (203 mm)
301312 Tail Bedplate, Non-tension End, 12" (305 mm) 303110 Pulley Ass'y, 10" (254 mm)
301318M | Tail Bedplate, Non-tension End, 18" (457 mm)
301324M | Tail Bedplate, Non-tension End, 24" (610 mm) 303112 | Pulley Ass', 12" (305 mm)

4 | 300155M |Bed-Link Mounting Block 303118 | Pulley Ass'y, 18" (457 mm)

5 | 920650M | Socket Head Cap Screw, M6-1.0 x 50 mm 303124 | Pulley Ass’y, 24" (610 mm)

6 930512M | Flat Head Cap Screw, M5-0.80 x 12 mm 26 [21-33 Bearing

7 303018M | Bedplate Tail Bar, 18" (457 mm) 27 (302204 | Pulley, 4" (95 mm)
303024M | Bedplate Tail Bar, 24" (610 mm) 302205 Pulley, 5" (127 mm)

8 200331M [ Cam Mounting Ass’y 302206 Pulley, 6" (152 mm)

10 910612M | Button Head Cap Screw, M6-1.0 x 12 mm 302208 Pulley, 8" (203 mm)

11 200038M | Cam Clamping Plate 302210 Pulley, 10" (254 mm)

12 200341M | Cam Retaining Block 302212 Pulley, 12" (305 mm)

13 200039M | Belt Tracking Cam 302218 Pulley, 18" (457 mm)

14 | 300150M | Drop-In T-bar 302224 | Pulley, 24" (610 mm)

15 | 300152M | T-bar 28 |[302104 |Pulley Shaft, 4" (95 mm)

16 910506M | Button Head Cap Screw, M5-0.80 x 6 mm

17 300030M | Tail Cover Plate, Right Hand 302105 Pulley Shaft, 5" (127 mm)

18  |300056M | Tail Plate, Right Hand (Low Side) 802106 | Pulley Shaft, 6" (152 mm)
300054M | Tail Plate, Right Hand (High Side) 302108 | Pulley Shaft, 8” (203 mm)

19 930612M | Flat Head Cap Screw, M6-1.0 x 12 mm 302110 Pulley Shaft, 10" (254 mm)

20 | 300057M | Tail Plate, Left Hand (Low Side) 302112 | Pulley Shaft, 12" (305 mm)
300055M | Tail Plate, Left Hand (High Side) 302118 Pulley Shaft, 18" (457 mm)

21 300031M | Tail Cover Plate, Left Hand 302124 Pulley Shaft, 24" (610 mm)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 37




3100 Series Flat Belt Conveyors

Replacement Parts

Drive End Tail Assembly

Tail Bed Plate for

18 to 40"

(457 to 1016 mm) widths

Pz07

Tail Plates for

High Side
Conveyors

Tail Plates for

Low Side
Conveyors

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

38



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300158M | Threaded Bushing 9 910612M | Button Head Cap Screw, M6-1.0 x 12 mm

2 807-384 | Spring Washer 10 200038M | Cam Clamping Plate

3 301304 | Tail Bedplate, Non-tension End, 11 200341M | Cam Retaining Block

4" (95 mm) _ 12 |[200039M | Belt Tracking Cam
301305 '5I"f’;u(lll32e7drp:]|r?1t)e, Non-tension End, 13 300150M | Drop-In T-bar
301306 | Tail Bedplate, Non-tension End, 14 300152M | T-bar
6" (152 mm) 15 |300139M | Drive Bearing Shaft Cover
301308 | Tail Bedplate, Non-tension End, 16 910506M | Button Head Cap Screw, M5-0.80 x 6 mm
8" (203 mm) 17 | 930612M | Flat Head Cap Screw, M6-1.0 x 12 mm
301310 Ig,i,' g‘;‘ipr';‘rtﬁ)' Non-tension End, 18 | 910508M | Button Head Cap Screw, M5-0.80 x 8 mm
301312 | Tail Bedplate, Non-tension End, 19 | 300032M | Tail Cover Plate, Right Hand, Drive End
12" (305 mm) 20 300146 Bearing Ass'y
301318M | Tail Bedplate, Non-tension End, 21 300068M | Tail Plate, Right Hand (Low Side), Drive
18" (457 mm) End
301324M | Tail Bedplate, Non-tension End, 300066M | Tail Plate, Right Hand (High Side), Drive
24" (610 mm) End
301330M | Tail Bedplate, Non-tension End, 22 300069M | Tail Plate, Left Hand (Low Side), Drive End
30" (762 mm) 300067M | Tail Plate, Left Hand (High Side), Drive End
301336M | Tal g‘i‘épr'g:ﬁ)' Non-tension End, 23 |300033M | Tail Cover Plate, Left Hand, Drive End
301340M | Tail Bedplate, Non-tension End, 24 303204M [ Pulley 4" (95 mm) (19 mm Shaft)
40" (1016 mm) 303205M | Pulley 5" (127 mm) (19 mm Shaft)

4 300155M | Bed-Link Mounting Block 303206M | Pulley 6" (152 mm) (19 mm Shaft)

5 920650M | Socket Head Cap Screw, M6-1.0 x 50 mm 303208M | Pulley 8" (203 mm) (19 mm Shaft)

6 930512M | Flat Head Cap Screw, M5-0.80 x 12 mm 303210M | Pulley 10" (254 mm) (19 mm Shaft)

7 303018M | Bedplate Tail Bar 18" (457 mm) 303212M | Pulley 12" (305 mm) (19 mm Shaft)
303024M | Bedplate Tail Bar 24" (610 mm) 303218M | Pulley 18" (457 mm) (19 mm Shaft)
303030M | Bedplate Tail Bar 30" (762 mm) 303224M | Pulley 24" (610 mm) (19 mm Shaft)
303036M | Bedplate Tail Bar 36" (915 mm) 303230M | Pulley 30" (762 mm) (19 mm Shaft)
303040M | Bedplate Tail Bar 40" (1016 mm) 303236M | Pulley 36" (915 mm) (19 mm Shaft)

8 200331M | Cam Mounting Ass’y 303240M | Pulley 40" (1016 mm) (19 mm Shaft)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 39




3100 Series Flat Belt Conveyors

Replacement Parts

Tension End Tail Assembly - 3" (76 mm) Pulley

\S
Y

Rack &
Pinion
Assembly

Tail Bed Plate for
(457 to 1016 mm) widths

18 to 40"

\%

AN

W
\g

AN
\ A\ X //
/. SN\
5\ Y
A/

0

@

A/

Tail Plates for

Low Side
Conveyors

for High Side

Tail Plates
Conveyors

PZ08

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

40



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300158M | Threaded Bushing 24 300060M | Tail Plate, Right Hand (Low Side), 3" (76 mm)

2 807-384 | Spring Washer 300058M | Tail Plate, Right Hand (High Side), 3" (76 mm)

3 301704 Tail Bedplate, Tension End, 4" (95 mm) 25 300061M | Tail Plate, Left Hand (Low Side), 3" (76 mm)
301705 Tail Bedplate, Tension End, 5" (127 mm) 300059M | Tail Plate, Left Hand (High Side), 3" (76 mm)
301706 Tail Bedplate, Tension End, 6” (152 mm) 26 300029M | Tail Cover Plate, Left Hand, 3" (76 mm)
301708 Tail Bedplate, Tension End, 8" (203 mm) 27 930612M | Flat Head Cap Screw, M6-1.0 x 12 mm
301710 Tail Bedplate, Tension End, 10" (254 mm) 28 910506M | Button Head Cap Screw, M5-0.80 x 6 mm
301712 Tail Bedplate, Tension End, 12" (305 mm) 29 300164M | Filler Plate (High Side)
301718M | Tail Bedplate, Tension End, 18" (457 mm) 30 326704 ldler Pulley Ass’y 4" (95 mm)
301724M | Tail Bedplate, Tension End, 24" (610 mm) 326705 ldler Pulley Ass’y 5" (127 mm)
301730M | Tail Bedplate, Tension End, 30" (762 mm) 326706 Idler Pulley Ass’y 6" (152 mm)
301736M | Tail Bedplate, Tension End, 36" (915 mm) 326708 Idler Pulley Ass’y 8" (203 mm)
301740M | Tail Bedplate, Tension End, 40” (1016 mm) 326710 Idler Pulley Ass’y 10" (254 mm)

4 300155M [ Bed-Link Mounting Block 326712 Idler Pulley Ass’y 12" (305 mm)

5 920650M | Socket Head Cap Screw, M6-1.0 x 50 mm 326718 Idler Pulley Ass’y 18" (457 mm)

6 930512M | Flat Head Cap Screw, M5-0.80 x 12 mm 326724 Idler Pulley Ass’y 24" (610 mm)

7 303018M | Bedplate Tail Bar, 18" (457 mm) 326730 Idler Pulley Ass’y 30" (762 mm)
303024M | Bedplate Tail Bar, 24" (610 mm) 326736 Idler Pulley Ass’y 36" (915 mm)
303030M | Bedplate Tail Bar, 30" (762 mm) 326740 Idler Pulley Ass’y 40" (1016 mm)
303036M | Bedplate Tail Bar, 36" (915 mm) 31 326604 Aluminum Pulley Tube, 4" (95 mm)
303040M | Bedplate Tail Bar, 40" (1016 mm) 326605 Aluminum Pulley Tube, 5" (127 mm)

8 920508M | Socket Head Cap Screw, M5-0.80 x 8 mm 326606 Aluminum Pulley Tube, 6" (152 mm)

9 300169M | Rack and Pinion Housing Ass'y 326608 Aluminum Pulley Tube, 8" (203 mm)

10 200034 Pinion Wear Ring 326610 Aluminum Pulley Tube, 10" (254 mm)

11 200151 Back Bowed Spring 326612 Aluminum Pulley Tube, 12" (305 mm)

12 300166M | Take-up Rack Housing 326618 Aluminum Pulley Tube, 18" (457 mm)

13 300167 Rack Gear 326624 Aluminum Pulley Tube, 24" (610 mm)

14 300168 Wear Rack Strip 326630 Aluminum Pulley Tube, 30" (762 mm)

15 203004M | Pinion Gear 4" (95 mm) 326636 Aluminum Pulley Tube, 36" (915 mm)
203005M | Pinion Gear 5" (127 mm) 326640 Aluminum Pulley Tube, 40" (1016 mm)
203006M | Pinion Gear 6" (152 mm) 32 802-110 | Ball Bearing (Set Screws Removed)
203008M | Pinion Gear 8" (203 mm) 33 915-051 | Retaining Ring
203010M | Pinion Gear 10" (254 mm) 34 301904 Idler Shaft 4" (95 mm) Wide
203012M | Pinion Gear 12" (305 mm) 301905 Idler Shaft 5" (127 mm) Wide
203018M | Pinion Gear 18" (457 mm) 301906 Idler Shaft 6" (152 mm) Wide
203024M | Pinion Gear 24" (610 mm) 301908 Idler Shaft 8" (203 mm) Wide
307030M | Pinion Gear 30" (762 mm) 301910 Idler Shaft 10" (254 mm) Wide
307036M | Pinion Gear 36" (915 mm) 301912 Idler Shaft 12" (305 mm) Wide
307040M | Pinion Gear 40" (1016 mm) 301918 Idler Shaft 18" (457 mm) Wide

16 200331M | Cam Mounting Ass'y 301924 Idler Shaft 24" (610 mm) Wide

17 910612M | Button Head Cap Screw, M6-1.0 X 12 mm 301930 Idler Shaft 30" (762 mm) Wide

18 200038M | Cam Clamping Plate 301936 Idler Shaft 36" (915 mm) Wide

19 200341M | Cam Retaining Block 301940 Idler Shaft 40" (1016 mm) Wide

20 200039M | Belt Tracking Cam

21 300150M | Drop-In T-bar

22 300152M | T-bar

23 300028M | Tail Cover Plate, Right Hand, 3" (76 mm)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 41




3100 Series Flat Belt Conveyors

Replacement Parts

18 & 24 (457 & 610 mm) widths

Tail Bed Plate for

Tension End Tail
Assembly - 1" (25 mm)

Pulleys

W

AN
N\

Tail Plate for
High Side

Conveyors

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

42



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300158M | Threaded Bushing 23 910506M | Button Head Cap Screw, M5-0.80 x 6 mm

2 807-384 | Spring Washer 24 300030M | Tail Cover Plate, Right Hand

3 301704 Tail Bedplate, Tension End, 4" (95 mm) 25 930612M | Flat Head Cap Screw, M6-1.0 x 12 mm
301705 Tail Bedplate, Tension End, 5" (127 mm) 26 300064M | Tail Plate, Right Hand (Low Side)
301706 Tail Bedplate, Tension End, 6" (152 mm) 300062M | Tail Plate, Right Hand (High Side)
301708 Tail Bedplate, Tension End, 8" (203 mm) 27 300065M | Tail Plate, Left Hand (Low Side)
301710 Tail Bedplate, Tension End, 10" (254 mm) 300063M | Tail Plate, Left Hand (High Side)
301712 Tail Bedplate, Tension End, 12" (305 mm) 28 300031M | Tail Cover Plate, Left Hand
301718M | Tail Bedplate, Tension End, 18" (457 mm) 29 300035M [ Retaining Sleeve Ass’y
301724M | Tail Bedplate, Tension End, 24" (610 mm) 30 300036M [ Retaining Sleeve

4 300155M | Bed-Link Mounting Block 31 810-292 | Grease Fitting

5 920650M | Socket Head Cap Screw, M6-1.0 x 50 mm 32 303104 Pulley Ass'y, 4" (95 mm)

6 930512M | Flat Head Cap Screw, M5-0.80 x 12 mm 303105 Pulley Ass'y, 5" (127 mm)

7 303018M | Bedplate Tail Bar, 18" (457 mm) 303106 Pulley Ass'y, 6" (152 mm)
303024M | Bedplate Tail Bar, 24" (610 mm) 303108 Pulley Ass'y, 8" (203 mm)

8 920508M | Socket Head Cap Screw, M5-0.80 x 8 mm 303110 Pulley Ass'y, 10" (254 mm)

9 300169M [ Rack and Pinion Housing Ass'y 303112 Pulley Ass'y, 12" (305 mm)

10 200034 Pinion Wear Ring 303118 Pulley Ass'y, 18" (457 mm)

11 200151 Back Bowed Spring 303124 Pulley Ass'y, 24" (610 mm)

12 300166M | Take-up Rack Housing 33 21-33 Bearing

13 300167 Rack Gear 34 302204 Pulley, 4" (95 mm)

14 300168 Wear Rack Strip 302205 Pulley, 5" (127 mm)

15 203004M | Pinion Gear 4" (95 mm) 302206 Pulley, 6" (152 mm)
203005M | Pinion Gear 5" (127 mm) 302208 Pulley, 8" (203 mm)
203006M | Pinion Gear 6" (152 mm) 302210 Pulley, 10" (254 mm)
203008M | Pinion Gear 8" (203 mm) 302212 Pulley, 12" (305 mm)
203010M | Pinion Gear 10" (254 mm) 302218 Pulley, 18" (457 mm)
203012M | Pinion Gear 12" (305 mm) 302224 Pulley, 24" (610 mm)
203018M | Pinion Gear 18" (457 mm) 35 302104 Pulley Shaft, 4" (95 mm)
203024M | Pinion Gear 24" (610 mm) 302105 Pulley Shaft, 5" (127 mm)

16 200331M [ Cam Mounting Ass’y 302106 Pulley Shaft, 6" (152 mm)

17 910612M | Button Head Cap Screw, M6-1.0 x 12 mm 302108 Pulley Shaft, 8" (203 mm)

18 200038M | Cam Clamping Plate 302110 Pulley Shaft, 10" (254 mm)

19 200341M | Cam Retaining Block 302112 Pulley Shaft, 12" (305 mm)

20 200039M | Belt Tracking Cam 302118 Pulley Shaft, 18" (457 mm)

21 300150M | Drop-In T-bar 302124 Pulley Shaft, 24" (610 mm)

22 300152M | T-bar 36 300164M | Filler Plate (High Side)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 43




Replacement Parts

3100 Series Flat Belt Conveyors

Note: Gearmotor is not included with
mounting package. Square key
is included with gearmotor.

Bottom Drive Mounting

See page 70.
Taper Lock
Assembly @
0111

Item | Part No. | Part Description Item | Part No. [ Part Description

1 980018M | Square Key (Undersized), 6 mm x 18 mm 16 |811-126 | Pulley, 16 Tooth, Taper Lock, TL-1108

2 300349M | Bottom Drive Cover 811-127 | Pulley, 18 Tooth, Taper Lock", TL-1210

3 910406M | Button Head Cap Screw, M4-0.70 x 6 mm 811-133 | Pulley, 14 Tooth, Taper Lock”, TL-1108

4 300038M | Spacer, 3/8 Thick 811-135 | Pulley, 20 Tooth, Taper Lock”, TL-1210

5 310037M | Drive Bottom Mounting Plate 811-136 | Pulley, 22 Tooth, Taper Lock™, TL-1610

6 300187 Idler Spacer Bar 811-137 | Pulley, 24 Tooth, Taper Lock™, TL-1610

7 300186M | Idler Guide Bar 17 811-206 | Taper Lock" Bushing, TL-1610, 19 mm Bore
8 930625M | Flat Head Cap Screw, M6-1.0 x 25 mm 811-205 | Taper Lock™ Bushing, TL-1210, 19 mm Bore
9 628144M | Cam Follower Nut 811-204 | Taper Lock™ Bushing, TL-1108, 19 mm Bore
10 605284 Hard Washer, Black Oxide 18 300049M | Drive Pulley, 19 Tooth, 19 mm Bore

11 | 802-059 | Cam Follower Bearing 19 [970608M | Socket Head Set Screw, M6-1.0 x 8 mm

12 921250M | Socket Head Cap Screw, M12-1.75 x 50 mm 20 814-047 | Timing Belt, 21" (533.4 mm) Long

13 920625M | Socket Head Cap Screw, M6-1.0 x 25 mm 814-048 | Timing Belt, 22" (558.8 mm) Long

14 920620M | Socket Head Cap Screw, M6-1.0 x 20 mm 814-057 | Timing Belt, 23" (584.2 mm) Long

15 920630M | Socket Head Cap Screw, M6-1.0 x 30 mm 21 920616M | Socket Head Cap Screw, M6-1.0 x 16 mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

44 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Side Mounting Package

Note: Gearmotor is not in-
cluded with mounting
package. Square key is
included with gearmo-
tor. See page 70.

Item | Part No. [ Part Description Item | Part No. | Part Description
1 980018M | Square Key (Undersized), 6 mm x 18 mm 9 300038M | Spacer, 3/8, Thick
2 807-102 | Flexible Coupling, 19 mm 10 310048M | Side Drive Guard

6 11 910510M | Button Head Cap Screw, M5-0.80 x 10 mm
3 | 310047M | Side Drive Gusset 12 [310041M | Gearmotor Mounting Plate
4 920620M | Socket Head Cap Screw, M6-1.0 x 20 mm 13 | 930518M | Flat Head Cap Screw, M5-0.80 x 18 mm
5 [920625M | Socket Head Cap Screw, M6-1.0 x 25 mm 14 |920518M | Socket Head Cap Screw, M5-0.80 x 18
6 920635M | Socket Head Cap Screw, M6-1.0 x 35 mm mm
7 310039M | Side Drive Mounting Plate 15 | 310042M [ Side Drive Plate
8 920520M | Socket Head Cap Screw, M5-0.80 x 20

mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page
73.

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 45



Replacement Parts

3100 Series Flat Belt Conveyors

Top Drive Mounting Package

Note: Gearmotor is not included
with mounting package.

Taper Lock i
Assembly

Square key is included 16
with gearmotor. See page
70.
Item | Part No. | Part Description Item | Part No. | Part Description
1 980018M | Square Key (Undersized), 6 mm x 18 mm 16 [811-126 | Pulley, 16 Tooth, Taper LockH, TL-1108
2 310046M | Top Drive Cover 811-127 | Pulley, 18 Tooth, Taper Lock", TL-1210
3 [ 910406M | Button Head Cap Screw, M4-0.70 x 10 mm 811-133 | Pulley, 14 Tooth, Taper Lock", TL-1108
4 | 300038M | Spacer, 3/8 Thick 811-135 | Pulley, 20 Tooth, Taper Lock™, TL-1210
5 | 310045M | Drive Top Mounting Plate 811-136 | Pulley, 22 Tooth, Taper Lock", TL-1610
6 300187 Idler Spacer Bar 811-137 | Pulley, 24 Tooth, Taper LockY, TL-1610
7 300186M | Idier Guide Bar 17 |811-206 | Taper Lock” Bushing, TL-1610, 19 mm
Bore
8 930625M | Flat Head Cap Screw, M5-1.0 x 25 mm 811-205 | Taper Lock® Bushing, TL-1210, 19 mm
9 628144M | Cam Follower Nut Bore
10 | 605284 | Hard Washer, Black Oxide 811-204 | Taper Lock" Bushing, TL-1108, 19 mm
11 |802-059 | Cam Follower Bearing Bore
12 | 921250M | Socket Head Cap Screw, M12-1.75 x 50 18 | 300049M | Drive Pulley, 19 Tooth, 19 mm Bore
mm 19 | 970608M | Socket Head Set Screw, M6-1.0 x 8 mm
13 | 920625M | Socket Head Cap Screw, M6-1.0 x 25 mm 20 |814-059 | Timing Belt, 27" (685 mm) Long
14 | 920620M | Socket Head Cap Screw, M6-1.0 x 20 mm 814-060 | Timing Belt, 28" (711 mm) Long
15 | 920630M | Socket Head Cap Screw, M6-1.0 x 30 mm 21 | 920616M | Socket Head Cap Screw, M6-1.0 x 16 mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

46

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Vertical Center Drive — Visual Index

Standard Vertica Center Drive for 8" (203 mm) wide
conveyor shown. Parts Lists on following pages identify parts
for 4" (95 mm), 5" (127 mm), 6" (152 mm), 8" (203 mm), 10"
(254 mm), 12" (305 mm), 18" (457 mm), 24" (610 mm), 30"
(762 mm), 36 (915 mm), and 40" (1016 mm) wide conveyors.
For any other sizes, please consult factory.

Side Plates, Covers and Guards
Exploded View and Parts List starts on page 48

NOTE:

Visual Index is provided to simplify location of parts and
their relationships with each other. The drawings are not
intended to be used for dissassembly or re-assembly
references.

Belt Tensioning and Idler Pulleys
Exploded View and Parts List starts on page

Timing Belt and Mounting Plates

Drive Pulley, Timing Belt Pulleys,

Exploded View and Parts List starts on page 52

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 47



Replacement Parts 3100 Series Flat Belt Conveyors

Vertical Center Drive — Side Plates, Covers & Guards

48 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 313804M | End Plate 4" (95 mm) 15 910512M | Button Head Cap Screw, M5-0.80 x 12 mm
313805M | End Plate 5" (127 mm) 16 310130M | Drive Right Side Plate
313806M | End Plate 6" (152 mm) 17 930820M | Flat Head Cap Screw, M8-1.25 x 20 mm
313808M | End Plate 8" (203 mm) 18 300349M | Drive Cover
313810M | End Plate 10" (254 mm) 19 910410M | Button Head Cap Screw, M4-0.70 x 10 mm
313812M | End Plate 12" (305 mm) 20 920620M | Socket Head Cap Screw, M6-1.0 x 18 mm
313818M | End Plate 18" (457 mm) 21 313904M | Bottom Guard 4" (95 mm)
313824M | End Plate 24" (610 mm) 313905M | Bottom Guard 5" (127 mm)
313830M | End Plate 30" (762 mm) 313906M | Bottom Guard 6" (152 mm)
313836M | End Plate 36" (915 mm) 313908M | Bottom Guard 8" (203 mm)
313840M | End Plate 40" (1016 mm) 313910M | Bottom Guard 10" (254 mm)

2 920818M | Socket Head Cap Screw, M8-1.25 x 18 mm 313912M | Bottom Guard 12" (305 mm)

3 300150M | Drop-In T-bar 313918M | Bottom Guard 18" (457 mm)

4 300154M [ Center Drive Clamp Plate 313924M | Bottom Guard 24" (610 mm)

5 910620M | Button Head Cap Screw, M6-1.0 x 20 mm 313930M | Bottom Guard 30" (762 mm)

6 910622M | Button Head Cap Screw, M6-1.0 x 22 mm 313936M | Bottom Guard 36" (915 mm)

7 300331M | Take-up Guide Bar 313940M | Bottom Guard 40" (1016 mm)

8 300332M | Center Drive Take-up Guard 22 304204M | Bottom Guard Bar 4" (95 mm)

9 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 304205M | Bottom Guard Bar 5" (127 mm)

10 930616M | Flat Head Cap Screw, M6-1.0 x 16 mm 304206M | Bottom Guard Bar 6" (152 mm)

11 910510M | Button Head Cap Screw, M5-0.80 x 10 mm 304208M | Bottom Guard Bar 8" (203 mm)

12 310172M | Drive Cutout Right Side Plate 304210M | Bottom Guard Bar 10" (254 mm)

13 300149M | Guard Mounting Angle Bracket 304212M | Bottom Guard Bar 12" (305 mm)

14 304104M | End Guard Plate 4" (95 mm) 304218M | Bottom Guard Bar 18" (457 mm)
304105M | End Guard Plate 5" (127 mm) 304224M | Bottom Guard Bar 24" (610 mm)
304106M | End Guard Plate 6" (152 mm) 304230M | Bottom Guard Bar 30" (762 mm)
304108M | End Guard Plate 8" (203 mm) 304236M | Bottom Guard Bar 36" (915 mm)
304110M | End Guard Plate 10" (254 mm) 304240M | Bottom Guard Bar 40" (1016 mm)
304112M | End Guard Plate 12" (305 mm)
304118M | End Guard Plate 18" (457 mm)
304124M | End Guard Plate 24" (610 mm)
304130M | End Guard Plate 30" (762 mm)
304136M | End Guard Plate 36" (915 mm)
304140M | End Guard Plate 40" (1016 mm)

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 49




Replacement Parts 3100 Series Flat Belt Conveyors

Vertical Center Drive — Belt Tensioning & Idler Pulleys

Drive Roller
(See Page 52)

50 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300244M | Tracking Cam Ass'y 11 802-110 | Ball Bearing (Set Screws Removed)

2 915-999 | External Retaining Ring, TruarcY 5101-56 12 915-051 | Retaining Ring

3 300191 Hardened Washer 13 300330 Take-up Outer Plate

4 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 14 300329M | Take-up Inner Plate

5 300199 | Cam Mounting Plate 15 304904 | Take-up Bar 4" (95 mm)

6 623777M | Tail Align Cam 304905 | Take-up Bar 5" (127 mm)

7 326704 Idler Pulley Ass’y 4" (95 mm) 304906 Take-up Bar 6" (152 mm)

326706 Idler Pulley Ass’y 6" (152 mm) 304908 Take-up Bar 8" (203 mm)
326708 Idler Pulley Ass’y 8" (203 mm) 304910 Take-up Bar 10" (254 mm)
326710 Idler Pulley Ass’y 10" (254 mm) 304912 Take-up Bar 12" (305 mm)
326712 Idler Pulley Ass’y 12" (305 mm) 304918 Take-up Bar 18" (457 mm)
326718 Idler Pulley Ass’y 18" (457 mm) 304924 Take-up Bar 24" (610 mm)
326724 Idler Pulley Ass’y 24" (610 mm) 304930 Take-up Bar 30" (762 mm)
326730 Idler Pulley Ass’y 30" (762 mm) 304936 Take-up Bar 36" (915 mm)
326736 Idler Pulley Ass’y 36" (915 mm) 304940 Take-up Bar 40" (1016 mm)
326740 | Idler Pulley Ass'y 40" (1016 mm) 16 | 915-002 |Retaining Ring, Truarc® 5101-15

8 301904 Idler Shatt 4” (95 mm) W'd_e 17 300457 Pneumatic/Spring Tension Clevis Pin
301905 Idler Shatt 5" (127 mm) W!de 18 920818M | Socket Head Cap Screw, M8-1.25 x 18 mm
301906 _ | Idler Shatt 6: (152 mm) Wide 19 [303704M | Cylinder Mounting Plate 4" (95 mm)
301907 | Idler Shatt 7" (178 mm) Wide 303705M | Cylinder Mounting Plate 5" (127 mm)
301908 | Idier Shaft 8 (203 mm) Wide 303706M | Cylinder Mounting Plate 6" (152 mm)
301910 Idler Shaft 10" (254 mm) Wide . -

- 303708M | Cylinder Mounting Plate 8" (203 mm)
301912 \dier Shaft 12" (305 mm) Wide 303710M | Cylinder Mounting Plate 10" (254 mm)
301918 Idler Shaft 18" (457 mm) Wide - -
301924 \dler Shaft 24" (610 mm) Wide 303712M CyI!nder Mountfng Plate 12" (305 mm)
301930 \dler Shaft 30" (762 mm) Wide 303718M CyI!nder Mountfng Plate 18" (457 mm)
301936 \dler Shaft 36" (915 mm) Wide 303724M | Cylinder Mounting Plate 24" (610 mm)
301940 \dler Shaft 40" (1016 mm) Wide 303730M | Cylinder Mounting Plate 30" (762 mm)

9 200825 Shaft Retaining Clip 303736M | Cylinder Mounting Plate 36" (915 mm)

10 326604 Aluminum Pulley Tube, 4" (95 mm) 303740M | Cylinder Mounting Plate 40" (1016 mm)
326605 Alum?num Pulley Tube, 5" (127 mm) 20 51-19-08 nge(—gg t?lzllgé(lji;g)lxi’;ig(gce)’rl%ﬁ)tgkOen[I?/]to
826606 | Aluminum Pulley Tube, 6" (152 mm) 300121P | Take-up Cylinder 3" Bore, 4" Stroke [12 to 40"
326608 Aluminum Pulley Tube, 8" (203 mm) (305 to 1016 mm) Wide Conveyors Only]
326610 | Aluminum Pulley Tube, 10" (254 mm) 21 | 825-084 | Reducing Bushing 3/8 to 1/4 NPT [12 to 40"
326612 | Aluminum Pulley Tube, 12" (305 mm) (305 to 1016 mm) Wide Conveyors Only]
326618 | Aluminum Pulley Tube, 18" (457 mm) 22 | 825-081 | Street Elbow, 1/4" NPT
326624 Aluminum Pulley Tube, 24" (610 mm) 23 825-017 | Nipple, 1/4" NPT x 0.88"

326630 Aluminum Pulley Tube, 30" (762 mm) 24 810-073 | Pneumatic Regulator
326636 Aluminum Pulley Tube, 36" (915 mm) 25 300122M | Stiffener Bar 24 to 40" (610 to 1016 mm)
326640 Aluminum Pulley Tube, 40" (1016 mm) 26 920618M | Socket Head Cap Screw, M6-1.0 x 18 mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 51




3100 Series Flat Belt Conveyors

Replacement Parts

Vertical Center Drive — Drive Pulleys, Timing Belt Pulleys & Mounting Plates

T $gT O
O 50D
dada
S2x3<
0O Qoo
c ®co
= o=
° .
0.2 =
cZ S
LS s 0o
S 0¢g
=}
o X =
— O ©
mmee
©S >SS
Q=T TEQo
Ozwmws=r
%
S
o
Pz

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

52



3100 Series Flat Belt Conveyors Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description
1 300124M | Drawn Bearing Cover 7 811-207 | Taper Lock™ Bushing, TL-2012, 19 mm
2 910606M | Button Head Cap Screw, M6-1.0 x 6 mm Bore
3 310181 Bearing Ass'y 811-206 gaper Lock™ Bushing, TL-1610, 19 mm
4 |309604M | Pulley Ass'y 4" (95 mm) 811-205 T;)yraeer Lock™ Bushing, TL-1210, 19 mm
309605M | Pulley Ass’y 5" (127 mm) Bore ' '
309606M | Pulley Ass'y 6" (152 mm) 811-204 | Taper Lock” Bushing, TL-1108, 19 mm
309608M | Pulley Ass’y 8" (203 mm) Bore
309610M | Pulley Ass’y 10" (254 mm) 8 300187 Idler Spacer Bar
309612M | Pulley Ass’y 12" (305 mm) 9 628144 Cam Follower Nut
309618M | Pulley Ass'y 18" (457 mm) 10 [300186M | Idler Guide Bar
309624M | Pulley Ass'y 24" (610 mm) 11 930625M | Flat Head Cap Screw, M6-1.0 x 25 mm
309630M | Pulley Ass'y 30" (762 mm) 12 605284 Hard Washer, Black Oxide
309636M | Pulley Ass’y 36" (915 mm) 13 | 802-070 | Solid Ball Bearing, Nice™ 1633DC
309640M | Pulley Ass’y 40" (1016 mm) 14 911-516 | Hardened Flat Washer, Steel
5 980018M | Square Key (Undersized), 6 mm x 18 mm 15 904-213 | Socket Head Shoulder Screw, 0.63 dia. x 1.5"
6 811-201 | 14T Pulley, Taper Lock", TL-1108 16 814-049 | Timing Belt, 21" (533 mm) Long
811-139 | 16T Pulley, Taper Lock", TL-1108 814-050 | Timing Belt, 22" (559 mm) Long

17 [811-151 | 18T Pulley, Taper LockY, TL-1210

811-142 [ 20T Pulley, Taper Lock™, TL-1210

811-143 | 22T Pulley, Taper Lock”, TL-1610

811-164 | 24T Pulley, Taper Lock™, TL-2012

18 300047M | Pulley, 19 Tooth

300048M | Pulley, 21 Tooth

19 970608M | Cup Set Screw, M6-1.0 x 8 mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page
73.

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 53



Replacement Parts 3100 Series Flat Belt Conveyors

Intentionally Blank

54 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Horizontal Heavy Load Center Drive — Visual Index

Horizontal Heavy Load Center Drive for 8" (203 mm) wide
conveyor shown. Parts Lists on following pages identify parts NOTE:
for 6" (152 mm), 8" (203 mm), 10" (254 mm), 12" (305 mm),
18" (457 mm), 24" (610 mm), 30" (762 mm), 36 (915 mm),
and 40" (1016 mm) wide conveyors. For any other sizes,
please consult factory.

Visual Index is provided to simplify location of parts and
their relationships with each other. The drawings are not
intended to be used for dissassembly or re-assembly

references.
Side Plates, Covers and Guards Belt Tensioning and Idler Pulleys
Exploded View and Parts List starts on page 56 Exploded View and Parts List starts on page 58

Drive Pulley, Timing Belt Pulleys, Timing
Belt and Mounting Plates
Exploded View and Parts List starts on page 60

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 55



Replacement Parts 3100 Series Flat Belt Conveyors

Heavy Load Horizontal Center Drive — Side Plates, Covers & Guards

Guard for
10 to 40"
(254 to 1016 mm)
widths

56 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description
1 305008M | Center Drive End Guard 8" (203 mm) 17 307206M | Rail Nut Strip 6" (152 mm) Wide
305010M | Center Drive End Guard 10" (254 mm) 307208M | Rail Nut Strip 8" (203 mm) Wide
305012M | Center Drive End Guard 12" (305 mm) 307210M | Rail Nut Strip 10" (254 mm) Wide
305018M | Center Drive End Guard 18" (457 mm) 307212M | Rail Nut Strip 12" (305 mm) Wide
305024M | Center Drive End Guard 24" (610 mm) 307208M | Rail Nut Strips Combined
305030M | Center Drive End Guard 30" (762 mm) 307210M | for 18" (457 mm) Wide
305036M | Center Drive End Guard 36: (915 mm) gg;ggm E)?"ZZ‘,}‘E GSltgpnfn?)OV’I‘lﬂged
305040M | Center Drive End Guard 40" (1016 mm) 307210M | Rail Nut Strips Combined
2 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 307210M | for 30" (762 mm) Wide
3 300149M | Guard Mounting Angle Bracket 307210M
4 910510M | Button Head Cap Screw, M5-0.80 x 10 mm 307212M | Rall Nut Strips Combined
5 [300150M |Drop-In T-bar gg;ggm for 36" (915 mm) Wide
6 300154M | Center Drive Clamp Plate - - -
307210M | Rail Nut Strips Combined
7 910620M | Button Head Cap Screw, M6-1.0 x 20 mm 307210M | for 40" (1016 mm) Wide
8 910622M | Button Head Cap Screw, M6-1.0 x 22 mm 307210M
9 |300194M | Sight Gauge Cover Plate 307210M
10 | 910606M | Button Head Cap Screw, M6-1.0 x 6 mm 18 307201 (Sg;cgv 1%‘1%?;1%“3{/“11&;0 c;lr?ll;/
11 |300185M | Take-up Guard 19 | 910410M [Button Head Cap Screw, M4-0.70 x 10 mm
12 930614M | Flat Head C.ap Screw, M6-1.0 x 14 mm 20 305106M | Bottom Guard 6" (152 mm)
13 |300184M | Take-up Guide Bar 305108M | Bottom Guard 8" (203 mm)
14 [300198M | Back Side Plate 305110M | Bottom Guard 10" (254 mm)
15 910516M | Button Head Cap Screw,.M5-0.80 X 16 mm 305112M | Bottom Guard 12" (305 mm)
16 305206M | Bottom Guard Center Ra!I 6" (152 mm) 305108M | Bottom Guards Combined
305208M | Bottom Guard Center Rail 8" (203 mm) 305110M | for 18" (457 mm)
305210M | Bottom Guard Center Rail 10" (254 mm) 305112M | Bottom Guards Combined
305212M | Bottom Guard Center Rail 12" (305 mm) 305112M | for 24" (610 mm)
305218M | Bottom Guard Center Rail 18" (457 mm) 305110M | Bottom Guards Combined
305224M | Bottom Guard Center Rail 24" (610 mm) gggﬂgm for 30" (762 mm)
305230M | Bottom Guard Center Rail 30" (762 mm) 305112M | Bottom Guards Combined
305236M | Bottom Guard Center Rail 36" (915 mm) 305112M | for 36" (915 mm)
305240M | Bottom Guard Center Rail 40" (1016 mm) 305112M
305110M | Bottom Guards Combined
305110M | for 40" (1016 mm)
305110M
305110M
21 300197M | Front Side Plate
22 300148M | Cover Mounting Angle Bracket
23 300340M | Double Drive Cover

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 57




Replacement Parts 3100 Series Flat Belt Conveyors

Heavy Load Horizontal Center Drive — Belt Tensioning & ldler Pulleys

Drive Rollers
(See Page 60)

Take-up Bar, Stiffener Bar &
Cylinder Mounting Plate
20 for 24 to 40" (610 to 1016 mm) widths

58 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300244M | Tracking Cam Ass'y 10 915-051 | Retaining Ring

2 915-999 External Retaining Ring, TruarcH 5101-56 11 802-110 Ball Bearing (Set Screws Removed)

3 |300191 | Hardened Washer 12 | 200825 | Shaft Retaining Clip

4 300199 [Cam Mounting Plate 13 |300182 | oOuter Take-up Plate

5 |623777M |[Tail Align Cam 14 | 300183M |[Inner Take-up Plate

6 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 15 304906 Take-up Bar 6" (152 mm)

7 306706 Idler Pulley Ass’y 6" (152 mm) 304908 Take-up Bar 8" (203 mm)

306708 Idler Pulley Ass’y 8" (203 mm) -

306710 Idler Pulley Ass’y 10" (254 mm) 304910 Take-up Bar 10" (254 mm)
306712 | Idler Pulley Ass'y 12" (305 mm) 304912 | Take-up Bar 12" (305 mm)
306718 | Idler Pulley Ass'y 18" (457 mm) 804918 | Take-up Bar 18" (457 mm)
306724 | Idler Pulley Ass'y 24" (610 mm) 304924 | Take-up Bar 24" (610 mm)
306730 | Idler Pulley Ass'y 30" (762 mm) 304930 | Take-up Bar 30" (762 mm)
306736 | Idler Pulley Ass’y 36" (915 mm) 304936 | Take-up Bar 36" (915 mm)
306740 | Idler Pulley Ass’y 40" (1016 mm) 304940 | Take-up Bar 40" (1016 mm)

8 326604 Aluminum Pulley Tube, 4" (95 mm) 16 300457 Pneumatic/Spring Tension Clevis Pin
326605 Aluminum Pulley Tube, 5" (127 mm) 17 915-007 | Retaining Ring, Truarc” 5100-25
326606 Aluminum Pulley Tube, 6" (152 mm) 18 906-155 | Hex. Hd. Cap Screw, 3/8-24 x 1.0" Long
326608 [ Aluminum Pulley Tube, 8" (203 mm) 19 | 304306M [ Cylinder Mounting Plate 6" (152 mm)
326610 | Aluminum Pulley Tube, 10" (254 mm) 304308M | Cylinder Mounting Plate 8" (203 mm)
326612 [ Aluminum Pulley Tube, 12" (305 mm) 304310M | Cylinder Mounting Plate 10" (254 mm)
826618 | Aluminum Pulley Tube, 18" (457 mm) 304312M | Cylinder Mounting Plate 12" (305 mm)
326624 | Aluminum Pulley Tube, 24" (610 mm) 304318M | Cylinder Mounting Plate 18" (457 mm)
826630 | Aluminum Pulley Tube, 30" (762 mm) 304324M | Cylinder Mounting Plate 24" (610 mm)
826636 | Aluminum Pulley Tube, 36" (815 mm) 304330M | Cylinder Mounting Plate 30" (762 mm)
326640 Aluminum Pulley Tube, 40 (1016 mm) 304336M | Cylinder Mounting Plate 36" (915 mm)

9 301906 Idler Shaft 6" (152 mm) Wide - -

301908 \dler Shaft 8" (203 mm) Wide 304340M | Cylinder Mounting Plate 40" (1016 mm)
301910 \dler Shaft 10" (254 mm) Wide 20 920818M | Socket Head Cap Screw, M8-1.25 x 18 mm
301912 Idler Shaft 12" (305 mm) Wide 21 300251P | Take-up Cylinder 4" Diameter, 4" Stroke
301918 | Idler Shaft 18" (457 mm) Wide 22 1825081 | Street Elbow, 1/4” NPT

301924 | Idler Shaft 24" (610 mm) Wide 23 | 825-017 | Nipple, 1/4" NPT x 0.88"

301930 Idler Shaft 30" (762 mm) Wide 24 810-073 | Pneumatic Regulator w/Gauge

301936 Idler Shaft 36" (915 mm) Wide 25 300122M | Stiffener Bar 24 to 40" (610 to 1016 mm)
301940 Idler Shaft 40" (1016 mm) Wide 26 920625M | Socket Head Cap Screw, M6-1.0 x 25 mm

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 59




Replacement Parts 3100 Series Flat Belt Conveyors

Heavy Load Horizontal
Center Drive — Drive Pulleys, Poly-V" Belt Pulleys & Mounting Plates

24 to 40" 4
(610 to 1016 mm) i

widths ‘ .
. Gearmotor is

not included
with
mounting
package.
Square key is
included with

6to0 18"
(152 to 457 mm) gearhead.
widths . See page 72.

21

60 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description
1 807-036 Oil Sight Gauge 13 980625M | Square Key, 6 mm x 25 mm
2 825-022 ][\lipllee, 1/4c’)’ NgTox 3-0(’)’ (gO mm) dths O 14 [ 902-134 | Socket Head Cap Screw, 1/4-20 x 0.88"
4 to 40" (610 to 101 Widtl - : -
or 2410 40" (610 to mm) Widths Only 15 |811-227 | Split Bushing, Type G, 19 mm Dia. Bore
3 825-094 90° Female Elbow, 1/4" to 1/4" NPT - - -
for 24 to 40" (610 to 1016 mm) Widths Only 811-228 | Split Bushing, Type H, 19 mm Dia. Bore
4 825-110 Nipple, 1/4" NPT x 1.38" 16 811-221 2.5" (63.5 mm) Dia. Pon-VIj Pulley
for 6” (152 mm) Width Only 811-222 | 2.65" (67 mm) Dia. Poly-VY Pulley
825-022 | Nipple, 1/4" NPT x 3" (76 mm) B " - O
for 8" (203 mm) Width Only 811-223 |2.8" (71 mm) 'Dla. Polyg/ Pulley
825-026 | Nipple, 1/4" NPT x 5" 811-224 | 3" (76 mm) Dia. Poly-V- Pulley
for 10" (254 mm) Width Only 811-225 | 3.15" (80 mm) Dia. Poly-VH Pulley
825-029 | Nipple, 1/4" NPT x 7_" 17 910606M | Button Head Cap Screw, M6-1.0 x 6 mm
for 12" (305 mm) Width Only 18 310181 Bearing Ass'y
825-021 Nipple, 1/4" NPT x 13" :
for 18" (457 mm) Width Only 19 300124M | Drawn Bearing Cover
825-119 | Nipple, 1/4" NPT x 1.5" (35 mm) 20 [ 309606M [ Pulley, 6" (152 mm)
for 24 to 40" (610 to 1016 mm) Widths Only 309608M | Pulley, 8" (203 mm)
5 316706M | Gearhead Support Plate 6" (152 mm) 309610M | Pulley, 10" (254 mm)

316708M | Gearhead Support Plate 8" (203 mm)

309612M | Pulley, 12" (305 mm)

316710M | Gearhead Support Plate 10" (254 mm)

309618M | Pulley, 18" (457 mm)
316712M | Gearhead Support Plate 12" (305 mm)

309624M | Pulley, 24" (610 mm)

316718M | Gearhead Support Plate 18" (457 mm)
309630M | Pulley, 30" (762 mm)

316724M | Gearhead Support Plate 24" (610 mm)
316730M | Gearhead Support Plate 30" (762 mm)

309636M | Pulley, 36" (915 mm)

316736M | Gearhead Support Plate 36" (915 mm) 309640M | Pulley, 40" (1016 mm)

316740M Gearhead SUppOrt Plate 40" (1016 mm) 21 904-213 fOS%iﬁet Head Shoulder Screw, 0.63" dia. x
6 902-181 | Socket Hd. Cap Screw, 5/16-18 x 1.0" :

22 911-516 Hardened Flat Washer, Steel
7 920818M | Socket Head Cap Screw, M8-1.25 x 18 mm

- . o
8 811225 |3.15" (80 mm) Dia. Poly-VZ Pulley 23 802-070 | Solid Ba‘II Bearing, Nice~ 1633DC
811-226 |4.5" (114 mm) Dia. Poly-v" Pulley 24 |300186M | Idler Guide Bar

9 811-011 | Split Bushing, Type H, 1" Dia. Bore 25 930625M | Flat Head Cap Screw, M6-1.0 x 25 mm
811-219 | Split Bushing, Type P1, 1" Dia. Bore 26 (300187 [ ldler Spacer Bar
10 902-181 | Socket Head Cap Screw, 5/16-18 x 1.0" 27 920520M | Socket Head Cap Screw, M5-0.80 x 20 mm
11 912-103 | Square Key, 1/4" Sq. x 0.75" 28 920540M | Socket Head Cap Screw, M5-0.80 x 40 mm
12 [814-076 | Poly-VE Belt, 32" (813 mm) long, 29 | 300481M | Stop Clamp Plate
Gates" 320]16 30 | 300480M | Spring Tensioner Clamp Block
814-077 | Poly-V Belt, 30" (762 mm) long, 31 |990508M | Nut, M5-0.80

Gates" 300J16

814-078 | Poly-vC Belt, 28" (711 mm) long, 82 |807-806 | Die Spring
Gates” 280J16 33 300479 Tensioner Slide Bar

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page
73.

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 61



Replacement Parts 3100 Series Flat Belt Conveyors

Intentionally Blank

62 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Horizontal Standard Load Center Drive — Visual Index

Horizontal Standard Load Center Drive for 8" (203 mm) wide
conveyor shown. Parts Lists on following pages identify parts NOTE:
for 4" (95 mm), 5" (127 mm), 6" (152 mm), 8" (203 mm), 10" Visual Index is ; P ;

’ A g " provided to simplify location of parts and
(254 mm), 12° (305 mm), 18" (457 mm), 24" (610 mm), 30 their relationships with each other. The drawings are not

%&?Zarr:;rrg{hi? Szlgsn:arlne)ai gcfrfgtjl(tl ? alg(?:;q ) wide conveyors. intended to be used for dissassembly or re-assembly

references.
Side Plates, Covers and Guards Belt Tensioning and Idler Pulleys
Exploded View and Parts List starts on page 64 Exploded View and Parts List starts on page 66

Drive Pulley, Timing Belt Pulleys, Timing Belt

and Mounting Plates
Exploded View and Parts List starts on page 68

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 63



Replacement Parts 3100 Series Flat Belt Conveyors

Standard Load Horizontal Center Drive — Side Plates, Covers & Guards

64 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 316404M | End Plate 4" (95 mm) 14 307204M | Rail Nut Strip 4" (95 mm) Wide
316405M | End Plate 5" (127 mm) 307205M | Rail Nut Strip 5" (127 mm) Wide
316406M | End Plate 6" (152 mm) 307206M | Rail Nut Strip 6" (152 mm) Wide
316408M | End Plate 8" (203 mm) 307208M | Rail Nut Strip 8" (203 mm) Wide
316410M | End Plate 10" (254 mm) 307210M | Rail Nut Strip 10" (254 mm) Wide
316412M | End Plate 12" (305 mm) 307212M | Rail Nut Strip 12" (305 mm) Wide
316418M | End Plate 18" (457 mm) 307208M | Rail Nut Strips Combined
316424M | End Plate 24" (610 mm) 307210M | for 18" (457 mm) Wide
316430M | End Plate 30: (762 mm) gg;ggm 2‘?"22‘,}1; Gsfgﬁrgowﬂged
316436M | End Plate 36" (915 mm) 307210M | Rail Nut Strips Combined
316440M | End Plate 40" (1016 mm) 307210M | for 30" (762 mm) Wide

2 920818M | Socket Head Cap Screw, M8-1.25 x 18 mm 307210M

3 300150M | Drop-In T-bar 307212M | Rail Nut Strips Combined

4 300154M [ Center Drive Clamp Plate gg;ggm for 36" (915 mm) Wide

5 910620M | Button Head Cap Screw, M6-1.0 x 20 mm 307210M | Rail Nut Strips Combined

6 910622M | Button Head Cap Screw, M6-1.0 x 22 mm 307210M | for 40" (1016 mm) Wide

7 930614M | Flat Head Cap Screw, M6-1.0 x 14 mm 307210M

8 |300185M |Take-up Guard 307210M

9 | 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 15 |307201 [ Spacer, Nut Strip

10 300184M | Take-up Guide Bar 16 910410M | Button Head Cap Screw, M4-0.70 x 10 mm

11 310243M | Back Side Plate 17 305104M | Bottom Guard 4" (95 mm)

12 |910516M | Button Head Cap Screw, M5-0.80 x 16 mm 305105M | Bottom Guard 5" (127 mm)

13 | 305204M | Bottom Guard Center Rail 4" (95 mm) 305106M | Bottom Guard 6" (152 mm)
202807M | Center Rail 5" (127 mm) 305108M | Bottom Guard 8" (203 mm)
202808M | Center Rail 6" (152 mm) 305110M | Bottom Guard 10" (254 mm)
202810M | Center Rail 8" (203 mm) 305112M | Bottom Guard 12" (305 mm)
202812M | Center Rail 10" (254 mm? " gggﬂgm %(:ttlosw ((ig?rriiq()lombmed
305212M | Bottom Guard Center Rafl 12" (305 mm) 305112M | Bottom Guards Combined
305218M | Bottom Guard Center Rail 18" (457 mm) 305112M | for 24" (610 mm)
305224M | Bottom Guard Center Rail 24" (610 mm) 305110M | Bottom Guards Combined
305230M | Bottom Guard Center Rail 30" (762 mm) 305110M | for 30" (762 mm)
305236M | Bottom Guard Center Rail 36" (915 mm) 305110M .
305240M | Bottom Guard Center Rail 40" (1016 mm) gggﬂgm Bottom (gi’grgfn()mmb'”ed

305112M

305110M | Bottom Guards Combined

305110M | for 40" (1016 mm)

305110M

305110M
18 310197M | Front Side Plate
19 300148M | Guard Mounting Angle Bracket
20 920618M | Socket Head Cap Screw, M6-1.0 x 18 mm
21 910508M | Button Head Cap Screw, M5-0.80 x 8 mm
22 300340M | Double Drive Cover

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix.

73.

SAE equivalent fasteners are identified in the table on page

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 65




Replacement Parts 3100 Series Flat Belt Conveyors

Standard Load Horizontal Center Drive — Belt Tensioning & ldler Pulleys

I Regulator ~ ~
Assembly
| For4&5"
(95 & 127 mm)
| widths

Drive Rollers
(See Page 68)

S |

Take-up Bar, Stiffener Bar &
Cylinder Mounting Plate
for 24 to 40" (610 to 1016 mm) widths

For 6 to 40"
(152 to 1016 mm)
widths

Regulator
Assembly

—_———

66 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors

Replacement Parts

Item | Part No. [ Part Description Item | Part No. | Part Description

1 300244M | Tracking Cam Ass’y 12 200825 Shaft Retaining Clip

2 915-999 External Retaining Ring, TruarcH 5101-56 13 300182 Outer Take-up Plate

3 300191 Hardened Washer 14 300183M | Inner Take-up Plate

4 300199 | Cam Mounting Plate 15 | 304904 | Take-up Bar 4" (95 mm)

5 [623777M [Tail Align Cam 304905 | Take-up Bar 5" (127 mm)

6 910506M | Button Head Cap Screw, M5-0.80 x 6 mm 304906 Take-up Bar 6" (152 mm)

7 306706 Idler Pulley Ass’y 6" (152 mm) 304908 Take-up Bar 8" (203 mm)

306708 Idler Pulley Ass’y 8" (203 mm) 304910 Take-up Bar 10" (254 mm)
306710 Idler Pulley Ass’y 10" (254 mm) 304912 Take-up Bar 12" (305 mm)
306712 Idler Pulley Ass’y 12" (305 mm) 304918 Take-up Bar 18" (457 mm)
306718 Idler Pulley Ass'y 18" (457 mm) 304924 Take-up Bar 24" (610 mm)
306724 Idler Pulley Ass’y 24" (610 mm) "

306730 Idler Pulley Ass’y 30" (762 mm) 304930 Take-up Bar 30" (762 mm)
306736 | Idler Pulley Ass'y 36" (915 mm) 304936 | Take-up Bar 36" (915 mm)
306740 | Idler Pulley Ass'y 40" (1016 mm) 304940 | Take-up Bar 40" (1016 mm)

8 326604 Aluminum Pulley Tube, 4" (95 mm) 16 300457 Pneumatic/Spring Tension Clevis Pin
326605 Aluminum Pulley Tube, 5" (127 mm) 17 915-002 | Retaining Ring, TruarcH 5100-15
326606 Aluminum Pulley Tube, 6" (152 mm 18 906-155 | Hex. Hd. Cap Screw, 3/8-24 x 1.0" Long
326608 Aluminum Pullez Tube, 8" 2203 mm; 19 304304M | Cylinder Mounting Plate 4" (95 mm)
326610 Aluminum Pulley Tube, 10" (254 mm) 304305M | Cylinder Mounting Plate 5" (127 mm)
326612 | Aluminum Pulley Tube, 12" (305 mm) 304306M | Cylinder Mounting Plate 6" (152 mm)
326618 | Aluminum Pulley Tube, 18" (457 mm) 304308M | Cylinder Mounting Plate 8" (203 mm)
326624 Aluminum Pulley Tube, 24" (610 mm) 304310M [ Cylinder Mounting Plate 10" (254 mm)
326630 Aluminum Pulley Tube, 30" (762 mm) 304312M | Cylinder Mounting Plate 12" (305 mm)
326636 Aluminum Pulley Tube, 36" (915 mm) 304318M | Cylinder Mounting Plate 18" (457 mm)
326640 Aluminum Pulley Tube, 40" (1016 mm) 304324M | Cylinder Mounting Plate 24" (610 mm)

9 | 301904 | lIdler Shaft 4" (95 mm) Wide 304330M | Cylinder Mounting Plate 30" (762 mm)
301905 | Idler Shaft 5" (127 mm) Wide 304336M | Cylinder Mounting Plate 36" (915 mm)
301906 | Idler Shaft 6" (152 mm) Wide 304340M | Cylinder Mounting Plate 40" (1016 mm)
301907 [ Idler Shaft 7" (178 mm) Wide 20 [920818M [ Socket Head Cap Screw, M8-1.25 x 18 mm
301908 | Idler Shaft 8" (203 mm) Wide 21 | 300121P | Take-up Cylinder 3" Bore, 4" Stroke for
301910 Idler Shaft 10" (254 mm) Wide 4 & 5" (95 & 127 mm) Widths
301912 Idler Shaft 12" (305 mm) Wide 300251P | Take-up Cylinder 4" Diameter, 4" Stroke
301918 Idler Shaft 18" (457 mm) Wide for 24 to 40" (610 to 1016 mm) Widths
301924 | Idler Shaft 24" (610 mm) Wide 22 |825-081 | Street Elbow, 1/4" NPT
301930 | Idler Shaft 30" (762 mm) Wide 23 [825-017 [ Nipple, 1/4" NPT x 0.88"

301936 Idler Shaft 36" (915 mm) Wide 24 810-073 | Pneumatic Regulator w/Gauge

301940 Idler Shaft 40" (1016 mm) Wide 25 300122M | stiffener Bar 24 to 40" (610 to 1016 mm)
10 802-110 | Ball Bearing (Set Screws Removed) 26 920625M | Socket Head Cap Screw, M6-1.0 x 25 mm
11 915-051 | Retaining Ring 27 825-084 | Reducing Bushing 3/8 to 1/4 NPT

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page

73.

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 67




Replacement Parts 3100 Series Flat Belt Conveyors

Standard Load Horizontal
Center Drive — Drive Pulleys, Poly-V" Belt Pulleys & Mounting Plates

Note: Gearmotor is not included
with  mounting package.
Square key is included with
gearmotor. See page 70.

g

S

/
/

68 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Item | Part No. | Part Description 12 309606M | Pulley, 6" (152 mm)
1 811-225 |3.15" (80 mm) Dia. Poly-V" Pulley 309608M | Pulley, 8" (203 mm)
811-226 | 4.5" (114 mm) Dia. Poly-V" Pulley 309610M | Pulley, 10" (254 mm)
2 811-229 | Split Bushing, Type P1, 19 mm Dia. Bore 309612M | Pulley, 12" (305 mm)
811-228 | Split Bushing, Type H, 19 mm Dia. Bore 309618M | Pulley, 18" (457 mm)
3 980018M | Square Key (Undersized), 6 mm x 18 mm 309624M | Pulley, 24" (610 mm)
902-181 Socket Head Cap Screw, 5/16-18 x 1.0" 309630M | Pulley, 30" (762 mm)
5 814-076 | Poly-VY Belt, 32" (813 mm) long, 309636M | Pulley, 36" (915 mm)
Gates' 320J16 309640M | Pulley, 40" (1016 mm)
814-077 | Poly-V’ Belt, 30" (762 mm) long, 13 300124M | Drawn Bearing Cover

Gates” 300J16

814-078 | Poly-vC Belt, 28" (711 mm) long, 14 904-213 | Socket Head Shoulder Screw, 0.63" dia. x

Gates” 280J16 1.50"
6 980625M | Square Key, 6 mm x 25 mm 15 911-516 | Hardened Flat Washer, Steel
7 |902-134 [ Socket Head Cap Screw, 1/4-20 x 0.88" 16 |802-070 | Solid Ball Bearing, Nice" 1633DC
8 |811-227 | split Bushing, Type G, 19 mm Dia. Bore 17 | 300186M | Idler Guide Bar
811-228 | Split Bushing, Type H, 19 mm Dia. Bore 18 930625M | Flat Head Cap Screw, M6-1.0 x 25 mm
9 811-221 | 2.5" (63.5 mm) Dia. Poly-VH Pulley 19 300187 ([ ldler Spacer Bar
811-222 | 2.65" (67 mm) Dia. Poly-VH Pulley 20 920520M | Socket Head Cap Screw, M5-0.80 x 20 mm
811-223 | 2.8" (71 mm) Dia. Poly-V" Pulley 21 920540M | Socket Head Cap Screw, M5-0.80 x 40 mm
811-224 | 3" (76 mm) Dia. Poly-V"~ Pulley 22 | 300481M | Stop Clamp Plate
811-225 |3.15" (80 mm) Dia. Poly-V" Pulley 23 300480M | Spring Tensioner Clamp Block
10 910606M | Button Head Cap Screw, M6-1.0 x 6 mm 24 990508M | Nut, M5-0.80
11 310181 Bearing Ass'y 25 807-806 | Die Spring
ltem | Part No. | Part Description 26 [ 300479 | Tensioner Slide Bar

NOTE: Metric parts listed. For SAE parts, other than fasteners, drop the “M” suffix. SAE equivalent fasteners are identified in the table on page
73.

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 69



Replacement Parts 3100 Series Flat Belt Conveyors

Standard Load Gearmotors

. Fixed Speed
Fixed Speed Three I?]ase
Single-phase P
230/460 Volts A.C.
115 Volt A.C. 60 HZ Motor
60 Hz Motor
Motor Gear | Output | Torque Motor Gear | Qutput | Torque
Item Part No. hp | Ratio [ RPM In-Lb Item Part No. hp | Ratio [ RPM In-Lb
A 62M180PS411F(n) | 0.08 | 180:1 9.4 341 B 912-080 3/16" x 1" Square Key
62M060PS411F(n) | 0.17 | 60:1 28 270 c 62M060PS423FN* | 0.25 | 60:1 28 270
32M030PS411F(n) | 0.33 | 30:1 57 250 32M030PS423FN | 0.5 | 30:1 57 250
32M020PS411F(n) | 0.33 | 20:1 85 167 32M020PS423FN | 0.5 | 20:1 85 167
32M010PS411F(n) | 0.33 | 10:1 170 108 32M010PS423FN | 0.5 | 10:1 170 108
32M005PS411F(n) | 0.33 | 5:1 340 56
B 912-080 3/16" x 1" Square Key * Not available in 460 voltage.
(n) = Reversing Capacity
N = Non-Reversing
R = Reversing

70 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance Dorner Mfg. Corp.



3100 Series Flat Belt Conveyors Replacement Parts

Standard Load 130 volt D.C. Variable Speed Motors & 115 volt A.C., 60 Hz. Controllers

Motor Gear | Output | Torque Controller
ltem Part No. hp Ratio RPM In-Lb Item Part No. Reversing |Amperes Input
B 912-080 3/16" x 1" Square Key F 62MD1134 no 3 115 Volts, 60 Hz
D 62M180PSD3DEN | 0.12 | 180:1 14 341 E 62MD1134R yes 5 Single Phase
62MO60PSD3DEN | 0.25 60:1 42 270
62MO030PSD3DEN | 0.25 30:1 83 135
62M020PSD3DEN | 0.25 20:1 125 90
62MO010PSD3DEN | 0.33 10:1 250 72

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 71



Replacement Parts

3100 Series Flat Belt Conveyors

Heavy Load Gearheads

Variable
Frequency
Drive

Replacement Gearheads include four (4) 3/8-16 x 1"
hexagon head cap screws and four (4) 3/8 lockwashers.

Item | Part No. Part Description
G 32M060L Gear Reducer with 60 to 1 Ratio
32M040L Gear Reducer with 40 to 1 Ratio
32M025L Gear Reducer with 25 to 1 Ratio
32M020L Gear Reducer with 20 to 1 Ratio
32M010L Gear Reducer with 10 to 1 Ratio
32M005L Gear Reducer with 5 to 1 Ratio
H 912-103 Square Key, 1/4" Sqg. x 0.75"
| Fixed Speed Single Phase 115 volts A.C.
32M2118 0.5 hp Motor
32M4118 1.0 hp Motor
Fixed Speed Single Phase 230 volts A.C.
32M2218 0.5 hp Motor
32M4218 1.0 hp Motor
32M7218 1.5 hp Motor
Fixed Speed Three- Phase 208-230 volts A.C.
32M2238 0.5 hp Motor
32M4238 1.0 hp Motor
32M7238 1.5 hp Motor
Fixed Speed Three-Phase 460 volts A.C.
32M2438 0.5 hp Motor
32M4438 1.0 hp Motor
32M7438 1.5 hp Motor
Variable Frequency 230 volts
32M2238-7 | 0.5 hp Motor
32M4238-7 1.0 hp Motor
32M7238-7 1.5 hp Motor
Variable Frequency 460 volts
32M2438-7 | 0.5 hp Motor
32M4438-7 1.0 hp Motor
32M7438-7 1.5 hp Motor

72 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




3100 Series Flat Belt Conveyors

Replacement Parts

Metric to SAE Hardware Conversion Table

Metric Equiv.
Part No. [ Hardware Name Metric Size Pages Appearing On | SAE Equiv.
Part No. SAE Size

910406M | Button Head Cap Screw M4-0.70 x 6 mm 44, 46 901-056 #8-32 x 1/4"
910410M | Button Head Cap Screw M4-0.70 x 10 mm 65 901-056 #8-32 x 1/4"
910506M | Button Head Cap Screw M5-0.80 x 6 mm 35, 37, 39, 41, 43, 49, [ 901-104 #10-32 x 1/4"

51, 57, 65, 75
910508M | Button Head Cap Screw M5-0.80 x 8 mm 39, 65 901-105 #10-32 x 5/16"
910510M | Button Head Cap Screw M5-0.80 x 10 mm | 45, 49, 57 901-106 | #10-32 x 3/8"
910512M | Button Head Cap Screw M5-0.80 x 12 mm 49 901-108 #10-32 x 1/2"
910516M | Button Head Cap Screw M5-0.80 x 16 mm | 30, 32, 57, 65 901-110 |#10-32 x 5/8"
910525M | Button Head Cap Screw M5-0.80 x 25 mm 30, 32 901-116 #10-32 x 1"
910606M | Button Head Cap Screw M6-1.0 x 6 mm 53, 57, 61, 69 910-125 1/4-20 x 1/4"
910612M | Button Head Cap Screw M6-1.0 x 12 mm 35, 37, 39, 41, 43, 75 | 901-129 1/4-20 x 1/2"
910620M | Button Head Cap Screw M6-1.0 x 20 mm 49, 57, 65 901-133 1/4-20 x 3/4"
910622M | Button Head Cap Screw M6-1.0 x 22 mm 49, 57, 65 901-135 1/4-20 x 7/8"
920508M | Socket Head Cap Screw | M5-0.80 x 8 mm 41, 43 902-106 | #10-32 x 3/8"
920518M | Socket Head Cap Screw M5-0.80 x 18 mm 45 902-112 #10-32 x 3/4"
920520M | Socket Head Cap Screw | M5-0.80 x 20 mm | 45, 61, 69 902-112 | #10-32 x 3/4"
920540M | Socket Head Cap Screw M5-0.80 x 40 mm 61, 69 902-121 #10-32 x 1-1/2"
920616M | Socket Head Cap Screw M6-1.0 x 16 mm 44, 46 901-110 1/4-20 x 5/8"
920618M | Socket Head Cap Screw M6-1.0 x 18 mm 49 902-134 1/4-20 x 3/4"
920620M | Socket Head Cap Screw | M6-1.0 x 20 mm 44, 45, 46, 51, 65 902-134 1/4-20 x 3/4"
920625M | Socket Head Cap Screw M6-1.0 x 25 mm 44, 45, 46, 59, 67 902-134 1/4-20 x 1"
920630M | Socket Head Cap Screw M6-1.0 x 30 mm 44, 46 902-138 1/4-20 x 1-1/4"
920635M | Socket Head Cap Screw M6-1.0 x 35 mm 18, 45,75 902-138 1/4-20 x 1-1/4"
920650M | Socket Head Cap Screw | M6-1.0 x 50 mm 35, 37,39, 41, 43 902-142 1/4-20 x 2"
920818M | Socket Head Cap Screw M8-1.25 x 18 mm | 49, 51, 59, 65, 67 902-180 | 5/16-18 x 3/4"
921250M | Socket Head Cap Screw M12-1.75 x 50 mm | 44, 46 902-281 1/2-13x 2"
930512M | Flat Head Cap Screw M5-0.80 x 12 mm | 35, 37, 39, 41, 43 903-108 | #10-32 x 1/2"
930518M | Flat Head Cap Screw M5-0.80 x 18 mm | 45 903-112 | #10-32 x 3/4"
930525M | Flat Head Cap Screw M5-0.80 x 25 mm 30, 32 903-116 #10-32 x 1"
930612M | Flat Head Cap Screw M6-1.0 x 12 mm 35, 37, 39, 41, 43 903-131 1/4-20 x 1/2"
930614M | Flat Head Cap Screw M6-1.0 x 14 mm 57, 65 903-134 1/4-20 x 5/8"
930616M | Flat Head Cap Screw M6-1.0 x 16 mm 49 903-134 1/4-20 x 5/8"
930625M | Flat Head Cap Screw M6-1.0 x 25 mm 44, 46, 53, 61, 69 903-140 1/4-20 x 1"
930820M | Flat Head Cap Screw M8-1.25 x 20 mm 49 902-179 5/16-18 x 3/4"
970608M | Socket Head Set Screw M6-1.0 x 8 mm 44, 46, 53 907-240 1/4-28 x 3/16"
980018M | Square Key (Undersized) |6 mm x 18 mm 44, 45, 46, 53, 69, 70 | 912-079 3/16" x 7/8"
990508M | Nut M5-0.80 61, 69 910-450 | #10-32

Dorner Mfg. Corp.

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 73




Numerical Index

3100 Series Flat Belt Conveyors

Part # ........... ... ... ..., Page Part# ............. ... ... ... Page Part# ... ... ... ... ... ..., Page
200034 ... 39, 41 300146 .ot 37 300457 ..t 49, 57, 65
200038M . ....... 33, 35, 37, 39, 41 300148M . oo o oo 55, 63 300479 ..o 59, 67
200039M . .. .. 28, 33, 35, 37, 39, 41 300149M . ... 47,55 300480M .................. 59, 67
200046M . ... ... ... 28 300150M . ...... 33, 35, 37, 39, 41, 300481IM ................ 59, 67
200151 .t 39,41 | oo 47, 55,63 300502P ..t 31
200331M ........ 33, 35, 37, 39, 41 300152M . ....... 33, 35, 37, 39, 41 300503P ..t 31
200341M ........ 33, 35, 37, 39, 41 300154M .. ... 47,55, 63 300504P ...t 31
200524 i 4 300155M . ....... 33, 35, 37, 39, 41 300505P ...\t 31
200825 ..., 49,57, 65 300158M ........ 33, 35, 37, 39, 41 300506P ...\t 31
203004M ... 39, 41 300164M ..o 39, 41 300507P ..o\t 31
203005M ...\t 39, 41 300166M . . ..\ 39, 41 300508P ...\t 31
203006M . .......... ... 39, 41 300167 ..o 39, 41 300509P ......... ... 31
203008M . ... 39,41 300168 ...t 39, 41 300510P . ... 31
203010M . ....... ... 39,41 300169M . ..o 39, 41 300511P . ...l 31
203012M . ... 39, 41 300181 .ot 51 300512P ........ ... 31
203018M . ... 39, 41 300182 .. 57, 65 300602P . ......... . ... 31
203024M .. ... 39, 41 300183M . oo 57, 65 300603P ........... ...l 31
21-33 . 35,41 300184M . oo oo\ 55, 63 300604P ...l 31
25-05 i 28 300185M ... 55, 63 300605P . ...t 31
25-08 .ot 16, 28 300186M . . . . ... 42, 44, 51, 59, 67 300B606P . ...\ 31
25-09 ... 16, 17, 28 300187 ......... 42’ 44, 51, 59’ 67 300607P ........... ...l 31
25-00 i 17, 28 300191 49,57, 65 300608P ...\ 31
300028M . ... 33,39 300194M T 55 300609P . ...t 31
300029M . ..o 33,39 300197M . 55, 63 300610P ..o 31
300030M ..o 35, 41 300198M T o 300611P ..ot 31
28882% .................. 35, g% 300109 .. 49 57, 65 ggggégg ..................... gi

..................... 30020aM T T
300033M ..o 37 300208M a1 300803P ...t 31
ggggzgm .................. zg ﬁ 300206M a1 ggggggi ..................... gi
sooosan 11T gl | 200208 3| Soaeoer T 5
300047M ..o L e 300807P ..ot 31

300212M ..o 31

..................... =2 | |
S000aoM L i,a4 | F0021BM ... 31| Sogsoom L 21
300050M ... \oi "33 300224M ........... 81, 49,57, 65 300810P . ...t 31
300051M . .o 33 | 800230M..................... SL 1 300811P ..o 31
300052M . oo 33 | S00236M...................e. 3L | 300812P ... 31
300053M ... 33 [ 300240M ... 31 301002P ... 31
300054M ...\ 35 gggggéz ------------------ 57, ig 301003P ...\ 31
300055M ..ot 35 | SUUSSIM L 301004P ...\t 31
300056M . ... 35 | 300330 ... 49 | 301005P ..........iiiiiiil, 31
300057M © oo 35 30033IM .. 47 301006P ..o 31
300058M . ..o\ 39 300332M ... 47 301007P .o 31
300059M . .o\ 39 300340M ... 55, 63 301008P ...\ 31
300060M ... ooii 39 300349M . ...l 42, 47 301000P ...\t 31
30006IM .« oo 39 300353MP ... 28,30 301010P .o, 31
300062M .« .o 41 300362M . ... 6,28 301011P ot 31
300063M ..o 41 300402P ...l 31 301012P .o 31
300064M ... 41 300403P ... 31 301202P ..o 31
300065M . ... 41 300404P . ... 31 301203P ..t 31
300066M .. ... 37 300405P ...l 31 301204P . ... . 31
300067M ..o 37 300406P .........oiiniiinnn. 31 301205P ...\t 31
300068M . ..o 37 300407P ....iiiiiii 31 301206P ...\t 31
300069M . ...t 37 300408P ...\t 31 301207P oo 31
300121P ..o 49, 65 300400P . ...t 31 301208P ..ot 31
300122M ... 49, 57, 65 300410P ...t 31 301200P ...t 31
300124M ... 51, 59, 67 300411P .ot 31 301210P ..o 31
300139M ..o 37 300412P ... 31 301211P oo 31

74 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




3100 Series Flat Belt Conveyors Numerical Index

Part # ........... ... .. ... ... Page Part# .............. ... ..., Page Part# ... ... ... ... ... ..., Page
301212P .ot 31 303105 ..ot 35, 41

301304 ......oiiii. 33, 35, 37 303106 ... 35, 41 304118M ... 47
301305 ...iiiiiiinn . 33, 35, 37 303108 ..o 35, 41 304124M ..o 47
301306 .......oiii... 33, 35, 37 303120 ..o 35, 41 304130M .« oo 47
ggggg --------------- gg zg g; ggzﬂg ------------------- gg 31 304136M ..o 47
301312 .. 33, 35, 37 303124 ..ot 35, 41 304140M ..o a7
301318M . ... 33, 35, 37 303204M ... 37 304204M ... 47
301324M . ... 33, 35, 37 303205M ... 37 304205M ..\t 47
301330M . ... 33,37 303206M . ... 37 304206M . ..o 47
ggigigm .................. gg g; ggg;ggm ..................... g; 304208M . . 47
301704 ..ot 39, 41 303212M . oo 37 04210M .. a7
301705 ..., 39, 41 303218M . oo 37 304212M . ... 47
301706 ..o 39, 41 303224M ... 37 304218M ... 47
301708 ..ot 39, 41 303230M ..o 37 304224M - oo 47
ggiﬁg ................... gg, ﬂ ggzgjgm ..................... z; 304230M 47
301718M ..o 39, 41 303304M ... 31 304236M ... a7
301724M ... 39, 41 303306M . ... 31 304240M . ... 47
301730M . oo 39 303308M ... 31 304304M ... 65
301736M . ... 39 303310M ... 31 304305M . .o, 65
gggggm ............. s 22 28212” ..................... gi 304306M 57. 65
301905 ............ 33,39,49,65 | 303324M .........ooi 3p | S04308M ... 57,65
301906 ......... 33, 39, 49, 57, 65 303330M ..o 31 304310M ... 57,65
301907 ..o 49, 65 303336M ... 31 304312M .o 57, 65
301908 ......... 33, 39, 49, 57, 65 303340M . ... 31 304318M . ..o 57, 65
o112 2339 49 57 65 | 30308 ..l q | MM 57,65
301918 ......... 33,39,49,57,65 | 303504 ...........iiiiiii... 31 | S043BOM ...l 57,65
301924 ......... 33, 39, 49, 57, 65 303505 ... 31 304336M ... 57,65
301930 ......... 33, 39, 49, 57, 65 303506 ...t 31 304340M ... 57, 65
301936 ......... 33, 39, 49, 57, 65 303507 ... 31 304904 . ... 49, 65
gg;slagg ......... 33, 39, 49, g; Sj 282282 ...................... gi 304905 . 49, 65
302105 ..o 35,41 | 303510 ....oooiiii 31 | 804906 ............... 49, 57, 65
302106 ..ot 35, 41 303511 .o 31 304908 ............... 49, 57, 65
302108 ...t 35, 41 303512 ..ot 31 304910 ......oiiiii. 49,57, 65
302110 ... 35,41 303602 ... 31 304912 . ... 49, 57, 65
gggﬁ; ................... gg ﬂ ggzggj ...................... 21 304918 . 49 57, 65
302124 ... 35,41 | 303605 ........ooooiiiiii. 31 | 304924 ............... 49,57, 65
302204 ... 35, 41 303606 ...ttt 31 304930 ............... 49, 57, 65
302205 ..., 35, 41 303607 .o 31 304936 ..., 49,57, 65
302206 ..., 35, 41 303608 ... 31 304940 .. ... 49,57, 65
302208 ..., 35, 41 303609 ...t 31 305008M 55
302210 ..o 35, 41 303610 ..ot 31 Lom

302212 oo 35,41 | 303611 ..0ooori 31 | 305010M........oooeeiinnntn. 55
302218 .. 35, 41 303612 .t 31 305012M ..o 55
302224 ... 35, 41 303704M . ... 49 305018M . .ot 55
303018M . ....... 33, 35, 37, 39, 41 304104M . ..o 47 305024M . 55
303024M . ....... 33, 35, 37, 39, 41 304105M ..o\ 47 305030M 55
303030M . ..ot 33, 37, 39 304106M . ... 47 205036M o
303036M . ............. 33, 37, 39 304108M . ... a7 | OUPUSBM L
303040M . ...t 33, 37,39 304110M ..ot 47 305040M . ... 55
303104 ..o 35, 41 304112M .o 47 305104M . oo 63

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 75




Numerical Index

3100 Series Flat Belt Conveyors

33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65
33, 39, 49, 57, 65

Part# ... ... ... ... ... ..., Page
326708 ................ 33, 39, 49
326710 ................ 33, 39, 49
326712 . ... 33, 39, 49
326718 ... 33, 39, 49
326724 . ... .. 33, 39, 49
326730 ... 33, 39, 49
326736 ... 33, 39, 49
326740 ................ 33, 39, 49
32MOOSL . ... 69
32MOO5PS411F . ............... 68
32MO1OL ... 69
32MO10PS411F . ............... 68
32MO10PS423FN .............. 68
32MO20L .. ... 69
32M020PS411F . ............... 68
32M0O20PS423FN .............. 68
32MO25L . ... 69
32MO30PS411F . ............... 68
32MO40L . ... 69
32MOGOL . ... 69
32M2118 . .. 69
32M2218 . ... 69
32M2238 . ... 69
32M2238-7 ... 69
32M2438 ... ... 69
32M2438-7 ... 69
32M4118 ... 69
32M42090-34 . ... 68
32M4218 ... 69
32M4238 . ... 69
32M4238-7 . ... 69
32M4438 . ... 69
32M4438-7 ... 69
32M7218 ... 69
32M7238 ... 69
32M7238-7 .. 69
32M7438 . ... 69
32M7438-7 . ... 69
51-19-08 ... 49
605279 ...l 16, 28
605284 ................ 42, 44,51
623777TM . ......... ... 49, 57, 65
625619 ... 15
628144 . ... 51
628144M . ... 42,44
62MO10PSD3DEN ............. 68
62M0O20PSD3DEN ............. 68
62MO30PSD3DEN ............. 68
62MO60PS411F . ............... 68
62MO60PS423FN .............. 68
62MO60PSD3DEN ............. 68
62M180PS411F . ............... 68
62M180PSD3DEN ............. 68
62MD1134 ......... ... 68
62MD1134R . .......... ... ..., 68
661451 ............ .. 28
802-059 ................... 42,44

Part # .....oooviiiiii.. Page
305105M . ... 63
305106M .................. 55, 63
305108M .................. 55, 63
305110M . ... ... 55, 63
305112M . ... 55, 63
305204M . ... 63
305206M . ... 55
305207M . ... 63
305208M .......... ... 55, 63
305210M . ... 55, 63
305212M . ... 55, 63
305218M ... 55, 63
305224M ... 55, 63
305230M ............... . 55, 63
305236M .................. 55, 63
305240M . ... 55, 63
306705 ... 39
306706 ............ i, 57, 65
306708 ................... 57, 65
306710 ........... ... 57, 65
306712 ... 57, 65
306718 ........... ... 57, 65
306724 ... 57, 65
306730 ......... .. ... 57, 65
306736 ... 57, 65
306740 ................... 57, 65
307030M . ... 39
307036M . ... 39
307040M . ... 39
307201 ........ ... 30, 55, 63
307204M . ... 31, 63
307205M . ... 31, 63
307206M . .............. 31, 55, 63
307208M . .............. 31, 55, 63
307210M . ... ..., 31,55, 63
307212M . ... 31, 55, 63
309604M . ... 51
309606M . ............... 51, 59, 67
309608M . ............... 51, 59, 67
309610M . ............... 51, 59, 67
309612M ................ 51, 59, 67
309618M . ............... 51, 59, 67
309624M . ... 51, 59, 67
309630M ................ 51, 59, 67
309636M . ............... 51, 59, 67
309640M . ............... 51, 59, 67
310037M . ... 42
310038M . ... o 42
310039M . ... 43
310041M . ... 43
310042M . ... 43
310045M . .. ... 44
310046M . ... ... 44
310047M . ... 43
310048M . ... 43
310130M . ... 47
310172M ..o 47
310181 ... 59, 67
76

3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance

Dorner Mfg. Corp.




3100 Series Flat Belt Conveyors Numerical Index

Part # ........... ... .. ... ... Page Part# ......... ... .. ... ..., Page Part# ... ... ... ... ... Page
soo110 53394957 65 | siiasa .l co 7 | Q05ZM. 30
""""" 199, 49, 90, R 910606M . ........... 51,55, 59, 67
orose T s | prnaeg 1 gy | 910012M ... 28,33,35,37,39, 41
807-384 ......... 33,35,37,39,41 | 811-227 ...'vooei. 59,67 | 910620M............... 47,55, 63
807-518 ..o 28 | 811228................... 59, 67 910622M . ............ .. 47,55, 63
807-520 . .o 28 814047 . oo, 42 911516 . .......iiii 51, 59, 67
807-521 ..o 28 814-048 ...\ 42 912-080 ..o 68
807-528 ..t 28 814-049 .. ...\ 51 912-103 ..t 59, 69
807-562 ..t 28 814-057 ..o 42 915-002 .. oo 49, 65
807-563 . ... ... 28 814-059 . ... ... 44 915-007 . . oo o oo 57
28;-22451 ....................... ;2 gii-ggg ................... 45]-491, 2% 915-051 ......... 33, 39, 49, 57, 65
807-566 . ..ot 28 814-077 « oo, 59, 67 Z;g 4%?59'\/' """""""" 49,57, SZ
807-568 ..o 28 814-078 ..o, 59,67 | o TN e
807-569 . ..\ 28 | 825017 ................ 49,57,65 | 92090BM.................. 39,41
807577 « oo 28 | 825020 ....................... 59 | 920518M ...l 43
807-609 ...\t 28 825-022 .\t 59 920520M ............... 43,59, 67
807-610 . ..o 28 825-026 ..t 59 920540M . ...l 59, 67
807-806 . ...\, 59, 67 825-029 ..\ 59 920616M . ..o\ 42, 44
810-073 .. ovee . 49, 57, 65 825081 ...\, 49, 57, 65 920618M .. ..o 49, 63
810-292 . ........... ... ... 35,41 825-084 ................... 49, 65 920620M .. ... 42,43, 44, 47
811-011 ... 59 825-094 . ... .. 59 920625M . . ... ... 42,43, 44, 57, 65
gii'i;? ................... j;, jj 252'118 ....................... gg 920630M .................. 42’ 44
811133 ..o 42,44 | 829002 ... . 15 | 92083M.... 16,28, 43
811-135 ..o\t 42, 44 829-003 ..t 15 920650M ... .. 33,35,37,39,41
811136 ..o, 42,44 | 901-104 . ... \oo 57, 65 920818M ........ 47,49, 57, 63, 65
811137 .ot 42,44 | 902-134 ................... 59,67 | 921250M ... 42,44
811-139 ..t 51 902-181 . . .. 59 930512M ........ 33, 35, 37, 39, 41
811-142 ..ot 51 002-257 . oo 65 930518M ..o\ 43
811-143 ...t 51 904-213 ...\ 51, 59, 67 930525M ...\ 30
811-151 . ... 51 906-155 . ..ot 57 930612M . ....... 33, 35, 37, 39, 41
811-164 ... 51 906-278 . ... i 28 930614M . ..o 55, 63
gﬂ'ggi --------------------- " 21 gigjggm ---------------- . gé ‘6“3‘ 930616M . .........ooiiii 47
811-205 ................ 42, 44,51 910506M . ....... 28, 33, 35, 37, 39, ggggigm """" 42, 44,51, 59, j;
811-206 ..o, 42,44 | o 41,47,49,55,63 | JOUOOM .
811207 . oo 51 | 910508M .................. 37, 63 970608M . .............. 42, 44,51
811219 ..o 59, 67 910510M . ........... 28, 43, 47, 55 980018M ........ 42,43, 44, 51, 67
811-221 . ... 59, 67 910512M . .. 47 980625M . ....... ... ... 59, 67
811222 .o 59, 67 910516M . ...\, 30, 55, 63 990408M . ..\t 59, 67

Dorner Mfg. Corp. 3100 Series Flat Belt Conveyor Parts, Assembly and Maintenance 77




RETURN POLICY

No returns will be accepted without prior written factory authorization. When calling for authorization,
please have the following information ready for the Dorner Factory representative or your local distributor:
1. Name and address of customer.
2. Item(s) being returned.
3. Reason for return.
4. Customer’s original order number used when ordering the item(s).
5. Dorner or distributor invoice number.
A representative will discuss action to be taken on the Returned items and provide a Returned Goods

Authorization Number to reference.

There will be a 15% restocking charge on all new items returned for credit where Dorner was not at fault.
These will not be accepted after 60 days from original invoice date. The restocking charge covers

inspection, cleaning, disassembly, and reissuing to inventory.

If a replacement is needed prior to evaluation of returned item, a purchase order must be issued. Credit

(if any) is issued only after return and evaluation is complete.

® Dorner has representatives throughout the world. Feel free to contact Dorner for the name of your local
representative. Our technical sales and service staff will gladly help with your questions on Dorner

products

For replacement parts, contact an authorized
Dorner Service Center or the factory.

Germany
TEL (02401) 80 52 90
FAX (02401) 80 52 93

I DORNER MFG. CORP. DORNER
“onnhn 975 Cottonwood Ave., PO Box 20 Arnold-Sommerfeld-Ring 2
Hartland, WI 53029-0020 USA D-52499 Baesweiler
USA
Dorner Mfg. Corp. reserves the right to change or TEL 1-800-397-8664 (USA)
discontinue products without notice. All products and FAX 1-800-369-2440 (USA)
services are covered in accordance with our standard Outside the USA:

warranty. All rights reserved. JDorner Mfg. Corp. 1099  TEL 1-414-367-7600, FAX 1-414-367-5827

Internet: www.dorner.com

851-157 Rev. F Printed in U.S.A.

1-CClI-899




